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Child Development and Pedagogy
1.	 Assertion (A): Humans are able to learn and 

remember new things in motor and cognitive 
domains throughout their life span.

	 Reason (R): Outcome of a severely deprived 
childhood can be easily changed in later years.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

2.	 Which principle of development does the following 
example illustrate.

	 The development of a child does not take a straight 
path, it turns back and then moves forward again.
(1)	 Principle of uniformity
(2)	 Principle of spiral advancement
(3)	 Development is uni-directional
(4)	 Development is discontinous.

3.	 Many parents demanded a ban on the popular 
cartoon show Shinchan as their children were 
imitating the central character’s ‘unruly’ behaviour. 
This illustrates ............... is/are an important agency 
of socialization.
(1)	 Media	 (2)	 Peers
(3)	 Neighbourhood	 (4)	 Religion

4.	 Which of the following statement about progressive 
education is correct?
(1)	 It involves lecture method and grouping 

according to the ability/marks of the students.
(2)	 It involves individualized learning, tests at the 

end of the year and ranking of students based 
on marks.

(3)	 It involves experimental learning and asessment 
through a variety of methods.

(4)	 It involves programmed instruction and use of 
rewards to encourage learning.

5.	 Jean Piaget proposed the following sequence of 
developmental stages:
(1)	 Pre-operational, sensory-motor, concrete 

operational, formal operational.
(2)	 Sensory-motor, Pre-operational, concrete 

operational, formal-operational.
(3)	 Sensory-motor, Pre-operational, formal-

operational, concrete operational.
(4)	 Concrete operational, Formal operational, 

sensory-motor, pre-operational.
6.	 According to Jean Piaget, which of the following 

questions will be answered only by the children in 
formal operational stage?
(1)	 Ronak ate 11 chocolates. His sister ate twice as 

many. How many chocolates they both ate in 
total?

(2)	 If A is greater than B and B is greater than C. 
What is the relation between A and C?

(3)	 How many whole numbers are there between 67 
and 81?

(4)	 7+9=?
7.	 According to Lev Vygotsky, which of the following 

factors influence learning?
(i)	 social interaction
(ii)	 cultural tools
(iii)	 language
(iv)	 negative reinforcement
(1)	 (iv)	 (2)	 (i)
(3)	 (i) (ii) (iii)	 (4)	 (i) (iii) (iv)

8.	 According to Lev Vygotsky, when teachers make 
adjustment in the support extended to the child 
according to the child’s current level of performance, 
it is referred to as:
(1)	 reinforcement	 (2)	 conditioning
(3)	 modelling	 (4)	 scaffolding

9.	 According to Lawrence Kohlberg the child’s moral 
development in stage 3-maintaining mutual relation, 
the ‘Golden Rule’ refers to the stage where:
(1)	 the child wants to please and help others.
(2)	 the child understands the social system is 

dependent on the performance of one’s duties 
to maintain social order.

(3)	 right actions are defined according to the 
norms, needs and rights which are unaminously 
accepted by society.

(4)	 the child not only keep in mind the norms of the 
society but also the limits to which the universal 
principles are applicable.

10.	 Howard Gardner proposed that:
(1)	 intelligence is a practical goal oriented activity
(2)	 intelligence comprises of seven intelligences in a 

hierarchical order
(3)	 intelligence is a generic ability that he lablled as 

‘g’.
(4)	 intelligence comprises of several kinds of human 

abilities.
11.	 Several television commercials depict men and 

women in stereotypical roles. How should a teacher 
discuss this issue in her classroom?
(1)	 She should encourage students to accept 

statements made in television commercials at 
face value.

(2)	 She should encourage students to analyze it 
critically and arrive at a reasoned decision.

(3)	 She should encourage students to reach 
conclusion on the basis of given facts in the 
commercial.

(4)	 She should encourage students to imitate the 
behaviour of men and women shown in the 
commercials.
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12.	 In the context of cognitive and language development, 

who said “Thought comes first than language”?
(1)	 Jean Piaget	 (2)	 Lev Vygostky
(3)	 B.F. Skinner	 (4)	 Jerome Bruner

13.	 Which of the following statement regarding 
proposals made by National Education Policy 2020 
(NEP) is not correct?
(1)	 NEP 2020 proposes that a variety of methods 

and strategies such as group work and role plays 
be used for assessment.

(2)	 NEP 2020 proposes shift from formative to 
summative assessment.

(3)	 NEP 2020 proposes that apart from assessment 
by the teacher other ways such as self - assesment 
and peer assessment should be encouraged.

(4)	 NEP 2020 proposes that report card of the 
student should include progress in the cognitive, 
affective and psychomotor domains.

14.	 Should terms take ‘slow learner’ ‘brilliant’ and 
‘average’ be used to describe students in a classroom?
(1)	 Yes, it helps students understand the level of 

their performance.
(2)	 No, these terms label children based on ability 

and are non-inclusive.
(3)	 Yes, it can help a teacher categorize children in 

his clasroom.
(4)	 No, these categories are not sufficient, we 

need to add many more to understand student 
profiles.

15.	 Which kind of diversities should a teacher respect 
and include in her classroom?
(1)	 Regional	 (2)	 Socio-cultural
(3)	 Economic	 (4)	 Linguistic

16.	 Murti, a grade 4 student, is able to read only at the 
level of a grade 1 student. He also has difficulty 
matching sounds, spelling words and reading 
letters. Murti shows characteristics of:
(1)	 Dyspraxia	 (2)	 Dyscalculia
(3)	 Dyslexia	 (4)	 Dysgraphia

17.	 A teacher can identify creative children in her class 
by:
(1)	 their ability to think convergently
(2)	 their popularity among peers
(3)	 their innovative style of thinking
(4)	 their selection of simple and recall based tasks.

18.	 What are the following behaviours primary 
characteristics of:

	 Impulsivity, low attention span, fidgeting, inability 
to sit for long?
(1)	 Autism
(2)	 Giftedness
(3)	 Attention Deficit Hyperactivity Disorder
(4)	 Creativity

19.	 Which of the following strategies does not promote 
inclusion?
(1)	 Flexible grouping
(2)	 Differentiated Instruction
(3)	 Ability grouping
(4)	 Reasonable curricular accomodation

20.	 Which of the following is not a characteristic of child 
with giftedness?
(1)	 High level of commitment
(2)	 Prefers working independently on tasks
(3)	 Ability to recognize multiple options while 

working on problems.
(4)	 Eagerness to repeat the same task multiple times.

21.	 A teacher should employ classroom management 
strategies which focus on:
(1)	 controlling the class through rigid rules
(2)	 expecting same behaviour from all children
(3)	 making students abide to all rules without 

questioning
(4)	 giving ample oppurtunities for self reflection

22.	 Which is the most effective strategy to encourage 
conceptual development in children?
(1)	 Keep punishing students till they make the 

required changes.
(2)	 Getting children to forget old concepts and learn 

new ones by rote memorization.
(3)	 Give a variety of examples and non-examples 

and encourage students to use reasoning.
(4)	 Rewarding students each time they make a 

conceptual change in their schema.
23.	 Effective teaching includes:

(i)	 Taking care of emotional needs of students.
(ii)	 Adapting curriculum and assessments to the 

student’s needs.
(iii)	 Flexible grouping for peer interaction.
(iv)	 Employing rigid classroom management 

strategies.
(1)	 (i) (ii) (iii) (iv)	 (2)	 (i) (ii) (iii)
(3)	 (ii) (iii) (iv)	 (4)	 (i) (iii) (iv)

24.	 Rekha provided a map of India with landforms and 
rivers to her students and encouraged them to make 
initiative guesses about the location of major cities in 
it. Her approach to teaching-learning is:
(1)	 Rote memorisation	 (2)	 Discovery learning
(3)	 Direct instruction	 (4)	 Expository teaching

25.	 Presentation of a concept and its sub concepts in a 
heirarchial and interconnected manner is called:
(1)	 Mnemonic	 (2)	 Heuristics
(3)	 Graphic organizer	 (4)	 Algorithms

26.	 Several educational reports are revealing that 
students are underperforming than the expected 
learning levels. The first unit of analysis to 
understand this gap should be:
(1)	 System	 (2)	 Child
(3)	 Community	 (4)	 Parent

27.	 Children’s intrinsic motivation to learn is increased 
when:
(1)	 learning is centred around rewards and 

punishment.
(2)	 learning strategies focus on mere memorization 

and recall
(3)	 their learning enviroment fosters their sense of 

belonging and agency.
(4)	 the teachers encourage obedience and adopt 

standardized methods of assessment.
28.	 Which emotion would facilitate the process of 

meaningful learning?
(1)	 Shame	 (2)	 Fear
(3)	 Hopelessness	 (4)	 Curiosity

29.	 Assertion: Teachers must encourage children to 
share the ‘naïve’ or intuitive theories that they 
construct.

	 Reason: All children start off with pre-conceptions 
of reality and these conceptions influence their 
understanding in schools.
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	 Choose the correct option.

(1)	 Both (A) and (R) are true and (R) is the correct 
explanation of (A).

(2)	 Both (A) and (R) are true but (R) is not the correct 
explanation of (A).

(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

30.	 What tasks should be focussed upon in a socio-
constructivist classroom?
(1)	 Task that are challenging and allow critical 

thinking.
(2)	 tasks that are repetitive and mechanical
(3)	 tasks based on recalling the text
(4)	 tasks that do not permit questioning by the 

child.

Mathematics and Science
31.	 Which of the following fractions(s) can be written as 

a terminating decimal?

(i)
	

7
18 	

(ii)
	

11
250

(iii)
	

21
28

(1)	 (i) only	 (2)	 (ii) only
(3)	 (ii) and (iii) only	 (4)	 (i) and (ii) only

32.	 If 
547 527
0 0082

.
.  

= x, then the value of 
547527

82  
is

(1)	 10x	 (2)	 100x

(3)
	

x
100 	

(4)
	

x
10

33.	 The distance of the Earth and Moon is 384,000,000 m. 
If it is expressed in standard form i.e. p × 10n, then 
the value of p and n are respectively
(1)	 3.84 and 8	 (2)	 0.384 and 9
(3)	 38.4 and 7	 (4)	 384 and 6

34.	 Arrange the following numbers in ascending order:
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35.	 If 78 x 3945 is divisible by 11, where x is a digit; then 
x is equal to
(1)	 0	 (2)	 1
(3)	 3	 (4)	 5

36.	 One of the factors of (x – 3)2 + 5(x – 3) + 4 is:
(1)	 x – 1	 (2)	 x – 2
(3)	 x + 2	 (4)	 x – 3

37.	 If 
x

x

a

b

2

2

 
= x12, x > 1 and a – b = 3, then value of 

(a + b) is:
(1)	 1	 (2)	 2
(3)	 3	 (4)	 4

38.	 If a – b = 7 and a2 + b2 = 29, then what is the value 

of
 

1 1
a b
−

(1)
	

3
5 	

(2)	 –
3
5

(3)
	

7
10 	

(4)	 –
7
10

39.	 Let		 p	 = 2x4 – x3y3 + 7y4,
			   q	 = x4 + 3x3y3 – 5y4

	 and	 r	 = 3x4 – 4x3y3 + 2y4

	 Then, p + q – r is equal to:
(1)	 7x4 – 2x3y3 + 4y4	 (2)	 x4 + x3y3 + y4

(3)	 4x3y3	 (4)	 6x3y3

40.	 If 
7
5 1
�
�
x

x  
= 3, then what is the value of 

x
x
�
�

1
1

?

(1)
	
−

5
3 	

(2)
	
−

7
4

(3)
	

5
4 	

(4)
	

7
3

41.	 If the mean of five observations x, x + 3, x + 6, 
x + 9 and x + 12 is 15, then the mean of first three 
observations is:
(1)	 11	 (2)	 12
(3)	 15.5	 (4)	 11.2

42.	 A card is selected at random from a standard deck of 
52 playing cards. What is the probability of selected 
being not a king?

(1)
	

12
13 	

(2)
	

1
52

(3)
	

4
13 	

(4)
	

1
13

43.	 How many times a wheel of diameter 105 cm will 

rotate to cover a distance of 330 m? Take � ��
�
�

�
�
�

22
7

(1)	 100	 (2)	 110
(3)	 90	 (4)	 105

44.	 The radius and height of the cylinder are 7 cm and 
12 cm, respectively. Another cylinder is formed by 
interchanging its radius and height. The ratio of the 
volumes of the two cylinders is:
(1)	 7:12	 (2)	 12:7
(3)	 1:2	 (4)	 1:1

45.	 If the area of a square A is equal to the area of a 
circle B, then the ratio of perimeters of A and B is:
(1)	 2 : p 	 (2)	 1 : p

(3)	 p : 2 	 (4)	 p : 1

46.	 To prove, DABC ≅ DPRQ, by SAS congruency rule, 
besides AB = PR and BC = QR, we have to show
(1)	 ∠A = ∠P	 (2)	 ∠C = ∠Q
(3)	 ∠B = ∠R	 (4)	 ∠A = ∠R
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47.	 Consider the following statements:
	 S1:	�A triangle is completely determined by its three 

sides
	 S2:	�A unique quadrilateral cannot be constructed if 

measure of its four sides are given
	 Which of the following is correct?

(1)	 Only S1 is true
(2)	 Only S2 is true
(3)	 Both S1 and S2 are true
(4)	 Both S1 and S2 are false

48.	 Assertion (A): A rectangle has 2 lines of symmetry.
	 Reason (R): Since every rectangle is also a 

parallellogram, therefore the number of lines of 
symmetry of a parallelogram is also 2.

	 Which of the following is correct?
(1)	 (A) is true, but (R) is false
(2)	 (A) is false, but (R) is true
(3)	 Both (A) and (R) are true
(4)	 Both (A) and (R) are false

49.	 If n = F + V, where F and V represents respectively 
the number of faces and vertices of a polyhedron 
having 30 edges, then value of (2n + 1) is:
(1)	 5	 (2)	 32
(3)	 64	 (4)	 65

50.	 Consider the following two statements for the 
congruency of two polygons having same number 
of sides:

	 S1:	Their corresponding sides are equal
	 S2:	Their corresponding angles are equal
	 Which of the following is correct?

(1)	 Only S1 is true
(2)	 Only S2 is true
(3)	 Both S1 and S2 are true
(4)	 Both S1 and S2 are false

51.	 Middle grade children sometimes do not regard 
rectangles and squares as parallelograms. As a 
teacher, to help such students, you should:
(1)	 Tell children that rectangles and squares have 

different mathematical properties than those of 
parallelogram.

(2)	 Not initiate such discussions as middle school 
students cannot do generalizations.

(3)	 Give a variety of manipulatives to children that 
have same mathematical properties but different 
physical characteristics.

(4)	 Ask the teacher teaching at the primary grades 
to help such students as these concepts are dealt 
at primary grades.

52.	 ‘Mathematics Laboratories’ are an important part of 
the process of mathematics teaching and learning 
because:
(1)	 They provide opportunities to learners for 

experimentation and exploration in mathematics.
(2)	 They help to improve score of schools during 

annual inspection.
(3)	 They help schools to attract more students for 

admission.
(4)	 They help teachers by providing free time to 

complete administrative work.

53.	 The levels of Van Hiele’s geometric reasoning are 
given below. They are arranged in random order.
(i)	 Relationships among figures
(ii)	 Recognition of figures
(iii)	 Axiomatic Reasoning
(iv)	 Deductive Reasoning & formal proofs
(v)	 Analysis of components of figures

	 Choose the correct sequence.
(1)	 (ii), (i), (v), (iv), (iii)	 (2)	 (i), (ii), (v), (iv), (iii)
(3)	 (ii), (v), (i), (iv), (iii)	 (4)	 (iv), (iii), (ii), (v), (i)

54.	 Ravi solved an algebraic equation by adopting 
following steps:

	 		  2x + 14	 = 26
	 ⇒		  2x	 = 26 – 14
	 ⇒		  2x	 = 12

	
⇒

		

2
2
x

	
= 

12
2

	 ⇒		  x	 = 6,
	 Which method did he adopt?

(1)	 Visualisation	 (2)	 Transposition
(3)	 Estimation	 (4)	 Trial-Error

55.	 In data handling, the common misconception the 
students have about “mean-as a measure of central 
tendency” is:
(1)	 Mean is computed by added all the numbers in 

the set and dividing the sum thus obtained by 
the number of items

(2)	 Mean is used everywhere as a measure of central 
tendency regardless of the context of the data

(3)	 Mean is affected by extremely large and 
extremely small values in the data

(4)	 The order of data is irrelevant to the calculation 
of mean

56.	 Which among the following is most appropriate 
regarding the use of questioning as a pedagogical 
tool in the mathematics classroom:
(1)	 Questioning needs to be minimised as it will 

create fear of mathematics among the students
(2)	 Use it whenever required since it will help 

children to express their views and thoughts and 
will help to improve critical thinking

(3)	 Use it as an assessment strategy to assess gifted 
students

(4)	 Minimise it since it will create discipline related 
issues in the classroom

57.	 If
 

a
b  

and
 

c
d  

are two fractions, where 
a
b
≠ 0,

 
then 

b
a  

is called the .............. .
(1)	 Multiplicative inverse
(2)	 Commutative property of fractions
(3)	 Multiplicative identity of fractions
(4)	 Closure property of fractions

58.	 A teacher gives 1-cm grid papers to the students in 
her class. The task is to decide:
(a)	 how many rectangles can be made having an 

area of 48 cm2

(b)	 how many rectangles can be made having a 
perimeter of 24 cm
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	 Which of the following statement is most desirable 

for the given activity from a reflective teacher’s 
perspective:
(1)	 To develop a deeper understanding of the 

relationship between perimeter and area
(2)	 The activity is based on inductive method of 

teaching
(3)	 It is a good activity to compare rectangle and 

circles
(4)	 The activity would be better if the teacher had 

posed the open ended question to be solved 
using the formula rather than using a paper

59.	 ‘It is more useful to know how to Mathematise than 
to know a lot of Mathematics’. This statement is 
given by:
(1)	 David Wheeler	 (2)	 George Polya
(3)	 Henri Poincare	 (4)	 Srinivasa Ramanujan

60.	 Which of the following statement/statements 
envision the growth of a mathematics teacher at 
middle school level?
(a)	 Knowledge of mathematics and content specific 

pedagogy
(b)	 Ability to recall any given formula
(c)	 Reflecting on the teaching-learning process and 

student learning
(d)	Successfully preparing students for Math 

Olympiads
	 Choose the correct option:

(1)	 (c) and (d)	 (2)	 (b) and (d)
(3)	 (a) and (c)	 (4)	 only (b)

61.	 Read the following table depicted properties of 
material and uses of materials.

Property of Material Use

A.	 Malleable (i)	 Electrodes in cell

B.	 High melting point (ii)	 Construct bridges

C.	 Good conductor of 
heat and light

(iii)	 Wrapping food 
items

D.	 Strong (iv)	 Making 
Thermometers

E.	 High coefficient of 
thermal expansion

(v)	 Heating elements 
of an appliance

	 Which of these make the correct matching set?
(1)	 A-(iv), B-(v), C-(i), D-(ii), E-(iii)
(2)	 A-(iv), B-(iii), C-(v), D-(i), E-(ii)
(3)	 A-(iii), B-(v), C-(i), D-(ii), E-(iv)
(4)	 A-(v), B-(iv), C-(i), D-(ii), E-(iii)

62.	 Which of the following vitamins are fat soluble?
(1)	 Vitamin B and Vitamin C
(2)	 Vitamin A and Vitamin B
(3)	 Vitamin A, Vitamin D and Vitamin E
(4)	 Vitamin A and Vitamin C

63.	 Which of the following statements correctly 
describe(s) the function of transpiration in plants?
(A)	 It helps in cooling the plant.
(B)	 It helps in absorption and distribution of water 

and minerals to leaves.
(C)	 It helps in exchange of gases with the 

environment.
(1)	 A and B	 (2)	 B and C
(3)	 A and C	 (4)	 A, B and C

64.	 Which among the following statements is/are true 
regarding the pressure exerted on a certain area by 
a brick?
A.	 Pressure is inversely proportional to area
B.	 Direction of pressure is opposite to that of the 

applied force
C.	 Unit of pressure is the same as that of the force
(1)	 A and B	 (2)	 Only A
(3)	 B and C	 (4)	 Only B

65.	 Shaurya went for a trekking trip. During the trek he 
accidently placed his hand on the bush. He felt the 
sting and his hand started itching. The instructor 
immediately took a leaf of one of the plants, crushed 
it and rubbed it on the affected area. What could be 
the nature of the chemical which caused sting and 
nature of the leaf respectively?

Nature of chemical 
which cause sting

Nature of juice in the 
leaf

(1) acidic basic

(2) basic acidic

(3) acidic acidic

(4) acidic acidic

66.	 Whales, sharks, dolphins and fish are all aquatic 
animals. Which of the following statements describes 
their respiratory system correctly?
(1)	 All of them breathe through gills.
(2)	 Whales and fish breathe through gills.
(3)	 Sharks and dolphins breathe through lungs.
(4)	 Whales and dolphins breathe through lungs.

67.	 Choose the correct sequence of steps of removal of 
waste in the human excretory system.
(1)	 Urinary bladder → Kidneys → Ureters → Urethra
(2)	 Kidneys → Urinary bladder → Ureters → Urethra
(3)	 Kidneys → Ureters → Urinary bladder → Urethra
(4)	 Urinary bladder → Kidneys → Urethra → Ureters

68.	 Match items in Column-I with Column-II.

Mode of reproduction Plant

A.	 Cutting (i)	 Rose

B.	 Spores formation (ii)	 Potato

C.	 Fragmentation (iii)	 Spirogyra

D.	 Budding (iv)	 Yeast

(v)	 Ferns

(1)	 A-(ii), B-(iii), C-(v), D-(iv)
(2)	 A-(i), B-(v), C-(iii), D-(iv)
(3)	 A-(v), B-(iii), C-(iv), D-(i)
(4)	 A-(ii), B-(v), C-(iv), D-(i)

69.	 Consider the following aspects of substances 
involved in a chemical reaction:
A.	 Physical state of all the substances
B.	 Number of molecules of all substances
C.	 Number of atoms of each substance
D.	 Sum of masses of all atoms of substances
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	 Which of the above remain the same before and 

after a chemical reaction has taken place?
(1)	 A and B	 (2)	 B and C
(3)	 C and D	 (4)	 A and D

70.	 A gas is produced when a metal reacts with acids. 
Which of the following statements is true about this 
gas.
(1)	 It turns lime water milky.
(2)	 It has a pungent smell.
(3)	 It burns with pop sound.
(4)	 It gives dense white fumes with solution of 

ammonia.
71.	 A man purchased ‘X’ to use it as fuel for cooking. 

What qualities ‘X’ solution possess to be used as a 
fuel?
A.	 Low ignition temperature and cheap.
B.	 High calorific values and low ignition 

temperature.
C.	 Moderate calorific value and non-toxic.
D.	 Moderate ignition temperature and cheap.
E.	 Low calorific value and non-toxic.
(1)	 A, B	 (2)	 B, C 
(3)	 A, E	 (4)	 C, D

72.	 The purpose of adding potassium permanganate 
(KMnO4) in water in a distillation plant is to—
(1)	 decrease the boiling temperature of water
(2)	 increase the pH of water
(3)	 remove the organic impurities
(4)	 increase the boiling point of water

73.	 Read the statements given below and choose the 
correct option.

	 Assertion (A): A switch is a source of electric current 
in a circuit.

	 Reasoning (R): When the switch is open (off), the 
air gap between the terminals prevents the flow of 
current.
(1)	 Both A and R are true and R is the correct 

explanation of A.
(2)	 Both A and R are true but R is not its correct 

explanation.
(3)	 A is false but R is true.
(4)	 Both A and R are false.

74.	 A lighter and a heavier object possess the same 
kinetic energy. Which of the following statements 
will be true regarding their velocities?
(1)	 Velocities of heavier object is greater than velocity 

of lighter object.
(2)	 Both will have same velocity.
(3)	 Velocity of heavier object is less than lighter 

object.
(4)	 Velocities can’t be compared.

75.	 The place inside the earth’s crust where the 
earthquake originates is called as
(1)	 focus of the earthquake.
(2)	 epicentre of the earthquake.
(3)	 fault zone of the earth.
(4)	 seismic zone of the earth.

76.	 A teacher asks students to suggest a method to 
demagnetise a magnet. Some responses are:
A.	 “dropping a magnet on floor several times”
B.	 “breaking the magnet into 2 halves”
C.	 “heating the magnet”
D.	 “throwing the magnet in water”
E.	 “by hammering it”

	 Which of the following are correct?
(1)	 A, B and D	 (2)	 C, D and E
(3)	 A, C and E	 (4)	 C, D and B

77.	 Which of the following statements is incorrect?
(1)	 Rolling friction is greater than sliding friction.
(2)	 Sliding friction is less than static friction.
(3)	 Static friction is greater than rolling friction.
(4)	 Sliding friction is greater than rolling friction.

78.	 A convex lens submerged in a liquid medium of 
higher refractive index will act as a—
(1)	 Divergent lens	 (2)	 Plane mirror
(3)	 Concave mirror	 (4)	 Convergent lens

79.	 The characteristics of sound that distinguishes 
between two different sounds of same pitch and 
loudness.
(1)	 Intensity	 (2)	 Timbre
(3)	 Shrillness	 (4)	 Amplitude

80.	 Read the statements given below and choose the 
correct option:

	 Assertion (A): Refrigerator pipes are painted with a 
black colour.

	 Reason (R): Good absorbers of heat are also good 
radiators.

	 Which of the following is true?
(1)	 Both A and R are true and R is the correct 

explanation.
(2)	 Both A and R are true but R is not the correct 

explanation for A.
(3)	 A is not correct but R is correct.
(4)	 Both A and R are not correct.

81.	 Which of the following is most appropriate:
	 Sequence of planning for your science classroom 

using inquiry approach in teaching of topic ‘Heat 
and Temperature’.
A.	 ask students to infer direction of heat flow in 

different objects.
B.	 ask students to explore what happens when 

they place a container with hot water inside a 
container with cold water.

C.	 ask students to describe relationship between 
heat and temperature.

(1)	 A → B → C	 (2)	 C → B → A
(3)	 B → C → A	 (4)	 A → C → B

82.	 For nurturing creativity in science classroom among 
students, a teacher can do all of the following, 
except:
(1)	 Encourage students to frame answers in a 

prescribed manner.
(2)	 Assist students in developing models of inquiry.
(3)	 Guide students in the use of a multidisciplinary 

approach.
(4)	 Provide a rich variety of learning experiences to 

students.
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83.	 Which of the following steps would precede the 

rest in an inquiry oriented class in which image-
formation in plane mirrors is being introduced in 
class-VII.
(1)	 Students draw the ray diagram depicting the 

path of light as it travels from object to mirror to 
observer.

(2)	 Students place a number of objects at different 
positions in front of a mirror and observe their 
images.

(3)	 The definition and explanation of the laws of 
reflection is provided in the beginning by the 
teacher.

(4)	 Teacher demonstrates the process of ray diagram.
84.	 A teacher wishes to apply the problem-solving 

strategy to help students understand various ways 
to conserve energy in a school. The first step in the 
problem-solving strategy will be:
(1)	 Collecting data about energy-usage
(2)	 Identifying wasteful practices
(3)	 Evaluating effectiveness of steps taken
(4)	 Taking remedial measures like awareness 

campaigns
85.	 A teacher asks the following questions while 

involving students in an investigatory activity on 
germination of seeds.
A.	 How much do they grow if we double the 

amount of water?
B.	 How much are they growing every week?

	 Which of the following process skills are developed 
by these questions:
(1)	 Controlling variable and observation
(2)	 Classification and observation
(3)	 Inference and hypothesis
(4)	 Observation and classification

86.	 Consider the statements given below and choose the 
correct option:

	 Assertion (A): A teacher should teach each science 
concept assuming students know nothing.

	 Reasoning (R): Science is an abstract subject with no 
clear interconnectedness between scientific concepts.
(1)	 Both Assertion and Reasoning are true and 

Reasoning is its correct explanation.
(2)	 Both Assertion and Reasoning are true but 

Reasoning is not its correct explanation.
(3)	 Assertion is true but Reasoning is false.
(4)	 Both Assertion and Reasoning are false.

87.	 Asking questions such as “Can you think of a 
different and better way of trying out your ideas?” 
After an investigatory project helps student to:
(1)	 reflect critically	 (2)	 communicate
(3)	 observe	 (4)	 hypothesize

88.	 A teacher introduced the topic of cyclones in class by 
asking the following questions (without mentioning 
the topic to be taught):

	 Have you heard about heavy rains in West Bengal 
and Odissa in 2021? Has anyone of you heard the 
term “Yaas”? What could be the objective of the 
teacher behind asking these questions to students?
(1)	 To check general knowledge of students
(2)	 To make the class attentive.
(3)	 To contextualise the topic.
(4)	 To break the monotony of the class.

89.	 Which of the following attributes are essential 
components of scientific temper?
(a)	 Open mindedness	 (b)	 Scepticism
(c)	 Subjectivity	 (d)	Rigidity
(1)	 b, c	 (2)	 c, d
(3)	 a, b	 (4)	 a, d

90.	 Choose the correct statement:
(1)	 Science is a blend of logic and imagination
(2)	 Science is a process and not a product.
(3)	 Science is all about the experimentation.
(4)	 Only science can inculcate values among 

students.

Language: English
Directions (91-99): Read the passage given below and 
answer the questions that follow by selecting the correct most 
appropriate options.
Cases of flight abroad caused by political persecution 
apart, people emigrate mostly for economic betterment. 
Even many asylum seekers who wash up on western 
shores are in fact economic migrants. Pundits predict 
that with the advance towards a globalised economy, this 
sort of migration will become unnecessary. Yet, of this 
planet’s six billion people, more than four billion still live 
in less than one hundred rupees a day, of which more 
than one billion live on less than seventy-five rupees a 
day. The rewards of globalisation have spread unevenly. 
And where they have spread, they have whetted the 
appetite for a better life so much that salaries from jobs in 
the Bengaluru back offices or call centres of international 
companies may not be able to meet. Most illegal Indian 
immigrants seem to be from Punjab, one of the most 
prosperous states in the country.
Illegal immigration cannot be stopped. It can only be 
checked. For this, without doubt, border control regimes 
in the developed world that seek to keep out foreigners 
have to first loosen up. In any case, these laws go against 
the right to work, the right to free choice the employment 
and protection against unemployment enshrined in 
Article 23 of universal Declaration of Human Rights. 
More than this, the realisation that they could be 
stranded without an adequate work force in the years 
to come has already spurred an awareness in many host 
countries that their immigration laws need to be relaxed. 
Here, India could learn a lesson from Sri Lanka which 
plays an active facilitating role in economic emigration. 
It assesses demand for labour abroad, provides basic 
training, even language skills to potential emigrants and 
runs a large-scale awareness campaign about the risks of 
illegal immegration abroad.
91.	 People do not migrate to other countries because of:

(1)	 political harassment.
(2)	 social injustice.
(3)	 poverty at home.
(4)	 better job opportunities there.

92.	 It is believed that when economy becomes globalised:
(1)	 people will start earning around one hundred 

fifty rupees a day.
(2)	 political persecution will stop.
(3)	 nobody will wash the western shores.
(4)	 poor people will stop going to the rich countries.



Paper-2:  22nd December, 2021 �  267
93.	 As a result of globalisation

(1)	 all countries have become rich.
(2)	 all countries have remained poor.
(3)	 people have stopped seeking political asylum.
(4)	 people are demanding higher salaries.

94.	 Illegal immigration can be stopped:
(1)	 through strict border control.
(2)	 by giving jobs to the poor.
(3)	 by ‘loosening up’ the foreigners
(4)	 by relaxing the immigration laws.

95.	 Study the following statements:
A.	 Workers in Bengaluru are asking for higher 

salaries.
B.	 Very soon western countries will be left without 

a trained work force.
(1)	 A is right and B is wrong.
(2)	 A is wrong and B is right.
(3)	 Both A and B are right.
(4)	 Both A and B are wrong.

96.	 ‘Yet, of this planets’
	 Which part of speech is the underlined word?

(1)	 Adverb	 (2)	 Adjective
(3)	 Conjunction	 (4)	 Interjection

97.	 ‘The sending country also’
	 Which part of speech is the underlined word?

(1)	 Adverb	 (2)	 Adjective
(3)	 Conjunction	 (4)	 Interjection

98.	 ‘They have whetted the appetite’
	 The word ‘whetted’ means;

(1)	 moistened	 (2)	 increased
(3)	 flowed	 (4)	 reduced

99.	 ‘an active facilitating role’
	 The word ‘facilitating’ means:

(1)	 helpful	 (2)	 important
(3)	 regular	 (5)	 irritating

Directions (100-105): Read the excerpt given below and 
answer the questions that follow by selecting the correct/most 
appropriate options:
Did ye not hear it? No; it was but the wind,
or the car rattling over the stony street;
On with the dance! Let joy be unconfined;
No sleep till morn, when youth and pleasure meet
To chase the glowing hours with flying feet ...............
But hark! ............... that heavy sound breaks in once more,
As if the clouds its echo would repeat;
Ans nearer, clearer, deadlier, than before!
Arm! Arm! It is ..... it is ..... the cannon’s opening roar!
100.	The narrator heard the sound of:

(1)	 wind.	 (2)	 a car.
(3)	 firing the cannon.	 (4)	 thunder of the clouds.

101.	What were the young men doing?
(1)	 Dancing	 (2)	 Singing
(3)	 Flying	 (4)	 Fighting

102.	Two contrasting images pictured in these lines are:
(1)	 dance and song	 (2)	 dance and war
(3)	 arm and cannon	 (4)	 youth and pleasure

103.	What would the clouds echo?
(1)	 rattling of the car
(2)	 roar of the gun

(3)	 noise of the wind
(4)	 limitless joy of the youth

104.	‘the car rattling over the stony street’
	 Which figure of speech has been used in the above 

line?
(1)	 Onomatopoeia	 (2)	 Metaphor
(3)	 Personification	 (4)	 Assonance

105.	‘And nearer, clearer, deadlier than before’
	 Name the figure of speech used in this line.

(1)	 Onomatopoeia	 (2)	 Metaphor
(3)	 Personification	 (4)	 Assonance

106.	Connotative meaning of a word is ............... .
(1)	 Symbolic	 (2)	 Factual meaning
(3)	 Semantic meaning	 (4)	 Literal meaning

107.	Which method of teaching believes in ‘learning form 
through message-focus’?
(1)	 Task based teaching	 (2)	 Structural approach
(3)	 Dogma approach	 (4)	 Direct method

108.	Rohit Irfan, who is a Hindi native speaker, is from 
Lucknow and has now moved to Bangalore for his 
studies. In his college he as opted for the study of 
Spanish and he has been able to use the language of 
the place, Kannada very well for different purposes. 
Which language is he learning and which language 
is he acquiring?
(1)	 Rohit Irfan learning Spanish and acquiring 

Kannada.
(2)	 He is acquiring Spanish and learning Kannada.
(3)	 He is learning both the languages
(4)	 He is acquiring both the languages.

109.	A teacher found a hotel menu and brought to her 
classroom. Having divided the class into groups 
of five, she asked her students to order food to eat 
for an amount of Rs. 1400 for five people keeping 
an amount of Rs. 70 for a three wheeler to go back 
home. Two of them are vegetarians and one is 
allergic to mushrooms. Learners in groups have to 
interact and order the food item to eat on the above 
condition. What is the piece of work in language 
teaching-learning known as?
(1)	 A task	 (2)	 A project
(3)	 Language processing	 (4)	 Ordering a men

110.	Which of the following statements are true and 
which of them are not true?
a.	 A language without script is dialect.
b.	 A language may have many dialect.
c.	 Some languages do not have grammar.
d.	 Sign language does not have a grammar.
(1)	 ‘b’ is true and ‘a’, ‘c’ and ‘d’ are not true.
(2)	 ‘b’ and ‘d’ are not true and ‘c’ and ‘a’ are true.
(3)	 ‘a’, ‘c’ and ‘d’ are true and ‘b’ is not true.
(4)	 ‘c’ and ‘a’ are true and ‘a’ and ‘d’ are not true.

111.	Which of the following is a post reading activity?
(1)	 The talk about the author by the teacher.
(2)	 Asking questions to relate the text with learners 

life experiences
(3)	 Silent reading in groups of four
(4)	 Creating a subtext from the given jumbled 

sentences.
112.	When we read a text or a story we use our knowledge 

of the structure of the language to predict what 
would come next. What is this known as?
(1)	 Semantic	 (2)	 Structural cues
(3)	 Syntactic cues	 (4)	 Thematic cues
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113.	Having grouped her learners into groups of five, a 

teacher read out a text to them and then asks them 
to jot down words and fragments of sentences to 
recreate the text, not necessarily the exact text. What 
is this strategy known as?
(1)	 Mutual dictation	 (2)	 Composition dictation
(3)	 Grammar dictation	 (4)	 Plain dictation

114.	Which of the following statements are true of 
teaching of poetry in language classroom?
a.	 Poetry teaching-learning helps in learning of 

grammar.
b.	 Poetry teaching-learning helps in learning of 

poetical devices.
c.	 Poetry teaching-learning is for enjoyment and 

delight.
d.	 Poetry teaching is for learning of pronunciation 

and speech.
(1)	 ‘a’ and ‘d’ are true	 (2)	 ‘b’ and ‘c’ are true
(3)	 ‘d’ is true	 (4)	 ‘d’ and ‘b’ are true

115.	What is portfolio assessment?
(1)	 Collection of instances of learning by the teacher 

and using it for assessment of learning.
(2)	 Recording of the formative and summative 

assessment activities together and using them for 
assessment.

(3)	 Assessment activities other than summative 
assessment.

(4)	 Assessment activities other than formative 
assessment.

116.	What does BICS stand for?
(1)	 Basic interpersonal communicative skills
(2)	 Basic internal communicational strategy
(3)	 Basic interpersonal communicational skills
(4)	 Basic internal communication skills

117.	What does ‘comprehensible input’ means in 
language learning?
(1)	 Engagement with language which is 

comprehensible to all learners.
(2)	 Engagement with written and formal language 

below the level current level of master of the 
learner.

(3)	 Exposure to high level of written and spoken 
language above the learner’s current level of 
mastery.

(4)	 Exposure to meaningful oral and written language 
somewhat above the learners’ current level of 
mastery.

118.	Which of the following is not considered as materials 
for language teaching-learning?
(1)	 Textbook and supplementary readers
(2)	 Computer Programming
(3)	 Newspaper
(4)	 Audio recorded stories

119.	Multiligualism in school education in India refers to 
............... .
(1)	 Recognising the multilingual characteristics of 

the country and using it as a resource in teaching-
learning of languages and content subjects.

(2)	 Learning as many languages as possible by all 
learners in order to cope with the developments.

(3)	 Learning of English by all and studying in 
English medium.

(4)	 Learning of three languages moving from mother 
tongue to Hindi and English.

120.	Which of the following is true of Sign Language?
(1)	 Sign language is an artificial language.
(2)	 Sign language has grammar and a natural 

language.

(3)	 Sign language is not natural language like other 
human languages.

(4)	 Sign language has not been recognised in school 
education.

Language: Hindi
funsZ'k (121-128): fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi pqfu,µ
gekjs lafoèkku esa L=h&iq#"k nksuksa dks gj n`f"V ls leku le>k x;k gS] 
lkFk gh mu lHkh çFkkvksa ds R;kx dh ckr dgh xbZ gS ftuls ukjh ds vkRe 
lEeku ij vk¡p vkrh gksA ;g loZekU; rF; gS fd gekjh ikfjokfjd]
lkekftd vkSj jk"Vªh; lajpuk uj&ukjh nksuksa ds ijLij lg;ksx vkSj 
lgHkkfxrk ij gh fuHkZj gSA ikfjokfjd O;oLFkk dk rks iwjk mÙknkf;Ro gh 
ukjh ij jgrk gSA ekuo lekt dh jpuk esa nksuksa dk leku ;ksxnku gSA ;g 
lc gksrs gq, Hkh gekjk lekt iq#"k dks Js"B vkSj ukjh dks ghu ekurk gSA
gekjk oSfnd dkyhu bfrgkl bl ns'k esa uj&ukjh lekurk dk ,d mTToy 
mnkgj.k gSA ml le; lekt esa ukjh dk cgqr Å¡pk LFkku FkkA ijns dh 
çFkk ugha FkhA muds fy, f'k{kk ds }kjk [kqys FksA vusd fL=;k¡ ½f"k&in 
ij çfrf"Br FkhaA os 'kkL=kFkks± esa [kqydj Hkkx ysrh Fkha] èkkfeZd vkSj 
lkekftd dk;ks± esa gkFk c¡Vkrh Fkha rFkk ;q¼ esa Hkkx ysrh FkhaA fookg ds 
ekeys esa mUgsa Lora=rk çkIr FkhA cky fookg dh çFkk ugha FkhA foèkok 
fookg dk fu"ksèk ugha FkkA lrh çFkk dk rks dgha uke Hkh ugha FkkA ifjokj 
esa L=h dk cgqr lEeku FkkA og ;K djrh Fkh] nku nsrh FkhA ;K esa ifr 
ds lkFk iRuh ds cSBs fcuk ;K iwjk ugha ekuk tkrk FkkA euqLe`fr esa Li"V 
fy[kk gS fd tgk¡ ukjh dh iwtk gksrh gS ogk¡ nsork fuokl djrs gSaA
dkykarj esa ;g fLFkfr ugha jghA lkoZtfud dk;ks± ls gVdj mldk thou 
?kjsyw dke&dkt esa chrus yxkA
121.	^;g lc gksrs gq, Hkh gekjk lekt iq#"k dks Js"B vkSj ukjh dks ghu 

ekurk gSAÞ
	 js[kkafdr va'k dk x|ka'k ds lanHkZ esa D;k vk'k; gSµ

(1)	 ukjh ds vkRe lEeku dk Kku j[krs gq, Hkh	
(2)	 L=h&iq#"k esa çkÏfrd :i ls varj gksrs gq, Hkh
(3)	 lafoèkku vkSj ijEijk esa L=h&iq#"k dks leku ekus tkus ij Hkh
(4)	 ifjokj dh O;oLFkk dk mÙknkf;Ro ukjh ij gksrs gq, Hkh

122.	^mTToy* 'kCn dk lgh lfUèk&foPNsn gksxkµ
(1)	 mt~ + Toy	 (2)	 mr~ + Toy
(3)	 mn~ + Toy	 (4)	 mp~ + Toy

123.	oSfnddkyhu lekt ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft, vkSj lR; dFku@dFkuksa dks pqfu,A

	 (d)	 lekt esa ukjh dk LFkku cgqr 
Å¡pk FkkA

	 ([k)	 laofèkku ds vuqlkj L=h&iq#"k 
dks leku ekuk x;k gSA

	 (x)	 efgyk,¡ ;q¼ esa Hkkx ys ldrh 
FkhaA
(1)	 dsoy ([k)	 (2)	 (d) vkSj ([k)
(3)	 ([k) vkSj (x)	 (4)	 (d) vkSj (x)

124.	^loZekU; rF;* fdls dgk x;k gS\
(1)	 lekt esa iq#"k dks Js"B ekuk tkrk gSA
(2)	 lkekftd lajpuk esa iq#"k dh egRoiw.kZ Hkwfedk gksrh gSA
(3)	 ikfjokfjd O;oLFkk djuk ukjh dk mÙkjnkf;Ro gSA
(4)	 lkekftd lajpuk L=h&iq#"k dh lgHkkfxrk ij fuHkZj djrk gSA

125.	vuqPNsn ds vuqlkj oSfnd dky esa dkSu&lh çFkk Fkh\
(1)	 cpou esa gh fookg dj nsus dh çFkk
(2)	 ;K esa ifr&iRuh ds lkFk cSBus dh çFkk
(3)	 ifr ds 'ko ds lkFk lrh gksus dh çFkk
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(4)	 fookg ds volj ij ngst nsus dh çFkk
126.	çlaxkuqlkj ^dkykarj* dk vFkZ gSµ

(1)	 le; ds Hkhrj	 (2)	 le;kuqlkj
(3)	 le; cnyus ij	 (4)	 le; vk tkus ij

127.	lekl jpuk dh n`f"V ls dkSu&lk lekl in 'ks"k ls fHkUu gS\
(1)	 L=h&iq#"k	 (2)	 dke&dkt
(3)	 uj&ukjh	 (4)	 lrh&çFkk

128.	^oSfnd dky esa ifjokj esa L=h dks cgqr lEeku çkIr FkkA* blds 
leFkZu esa fuEufyf[kr esa ls dkSu&lk rdZ vuqi;qDr gS\
(1)	 efgyk,¡ 'kkL=kFkZ esa [kqydj Hkkx ysrh FkhaA
(2)	 efgyk,¡ ;K djrh vkSj nku nsrh FkhaA
(3)	 tgk¡ ukjh dh iwtk gksrh gS ogk¡ nsork fuokl djrs gSaA
(4)	 fookg ds ekeys esa mUgsa Lora=rk çkIr FkhA

funsZ'k (129-135): fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qDr mÙkj okys fodYi pqfu,µ
jk"Vªh; vfLerk dk vFkZ gS mu y{k.kksa vkSj fo'ks"krkvksa dk igpku] 
ftuls jk"Vª dk viuk ,d Lo:i curk gS] fo'o esa mldh viuh vyx 
igpku curh gS] og ,d Lora=] çHkqRo lEiUu jk"Vª ds :i esa çfrf"Br 
gksrk gSA bl igpku ls gh gekjs eu esa jk"Vª ds çfr viuRo] çse] fu"Bk 
vkSj lei.kZ dh Hkkouk iSnk gksrh gSA ge èkeZ] lEçk;] oxZ] tkfr] Hkk"kk] 
{ks=] vkfn ls ijs ,dtqV gksdj jk"Vªh; fodkl ds fy, ç;Ru'khy gksrs 
gSaA ns'k ds fdlh dksus esa vkbZ gqbZ foifÙk dks viuh foifÙk ekudj 
ogk¡ ds yksxksa dh lgk;rk djrs gSaA ge leLr Hkkjroklh ,d gSa] ;g 
jk"Vª gekjk gS] blds çfr gekjk nkf;Ro gS] blds vfLrRo vkSj blds 
vH;qRFkku esa gh gekjk vfLrRo vkSj dY;k.k fufgr gS vkfn euksHkko gh 
jk"Vªh; vfLerk dh igpku ds vkèkkj gSaA la{ksi esa] jk"Vªh; vfLerk dh 
igpku vkSj mldh iks"kd fo"k;oLrq ds varxZr mYys[kuh; gS fd gekjk 
ns'k ,d fo'kky ns'k gSA blh dkj.k ls bls miegk}hi dgk tkrk gSA ,sls 
fo'kky ns'k esa HkkSxksfyd fofoèkrk ,d LokHkkfod ckr gSA nqxZe mPp 
f'k[kj okys ioZrh; {ks=] iBkjh Hkkx] eSnkuh Hkkx] jsfxLrkuh Hkkx vkfn 
vusd çkÏfrd Hkw&jpuk ns[kus dks feyrh gSA tyok;q dh fofoèkrk] 
vkthfodk ds lkèkuksa dh fofoèkrk vkSj jgu&lgu dh fofoèkrkA fdUrq 
bu fofoèkrkvksa ds jgrs gq, Hkh Hkkjr ,d HkkSxksfyd bdkbZ jgk gSA ;gk¡ 
rd fd le;&le; ij vusd jktuSfrd lÙkkvksa esa foHkDr jgus ij Hkh 
èkkfeZd vkSj lkaLÏfrd fopkjksa] laLdkjksa vkSj vkLFkkvksa us bls ,d lw= 
esa ck¡èks j[kk gSA mÙkj ds fgeky;] iwoZ] nf{k.k vkSj if'pe ds lkxjksa 
us bls bl HkkSxksfyd bdkbZ ds :i esa lhekafdr fd, j[kk gSA tc Hkh 
gekjs ‘kkL=ksa] egkdkO;ksa vkfn esa HkkSxksfyd lhek vkSj foLrkj dh ckr 
gqbZ gS] d'ehj ls dU;kdqekjh vkSj dPN ls v#.kkpy rd Hkkjr dks 
,d HkkSxksfyd bdkbZ ds :i esa of.kZr fd;k x;k gSA
129.	jk"Vªh; vfLerk dh igpku ds lanHkZ esa fuEufyf[kr dFkuksa dks 

i<+dj mi;qDr y{k.k@y{k.kksa dks pqfu,A
	 (d) jk"Vª dk viuk Lo:i çfrf"Br gksrk gSA
	 ([k) jk"Vª dk euksHkko Kkr gksrk gSA
	 (x)  ns'k ds çfr fu"Bk vkSj leiZ.k dk Hkko mRiUu gksrk gSA

(1)	 dsoy (x)	 (2)	 (d) vkSj (x)
(3)	 (x) vkSj ([k)	 (4)	 ([k) vkSj (d)

130.	O;kdjf.kd dksfV dh n`f"V ls lewg ls fHkUu 'kCn dks igpkfu,µ
(1)	 jk"Vªh; 	 (2)	 jsfxLrkuh
(3)	 lkaLÏfrd	 (4)	 fofoèkrk

131.	^bu fofoèkrkvksa ds jgrs gq, Hkh Hkkjr ,d HkkSxksfyd bdkbZ jgk 
gS*] dkSu&lh fofoèkrk bu fofoèkrkvksa esa lfEefyr ugha gS\
(1)	 ioZrksa vkSj ufn;ksa dh	 (2)	 vkthfodk ds lkèkuksa dh
(3)	 ekSle vkSj tyok;q dh	 (4)	 jgu&lgu dh

132.	Hkkjr dks ,d miegk}hi dgk tkrk gS] D;ksafd ;gµ
(1)	 ,d NksVk egk}hi gSA
(2)	 ,d cM+k }hi gSA
(3)	 HkkSxksfyd fofoèkrkvksa okyk fo'kky ns'k gSA
(4)	 ,f'k;k egk}hi dk lcls cM+k ns'k gSA

133.	^HkkSxksfyd bdkbZ* esa nksuksa 'kCn gSa Øe'k%µ
(1)	 fo'ks"k.k & fo'ks";	 (2)	 fo'ks"; & fo'ks"k.k
(3)	 ngkbZ & bdkbZ	 (4)	 fØ;k & fo'ks"k.k

134.	ßge leLr Hkkjroklh ,d gSÞ] jpuk dh n`f"V ls mi;qZDr okD; gSµ
(1)	 ljy okD;	 (2)	 dfBu okD;
(3)	 feJ okD;	 (4)	 la;qDr okD;

135.	gekjs 'kkL=ksa vkSj egkdkO;ksa esa Hkkjr dks dgk x;k gSµ
(1)	 ohjksa dk ns'k	
(2)	 ,d HkkSxksfyd bdkbZ
(3)	 jke vkSj Ï".k dh vorkj Hkwfe
(4)	 fofoèkrkvksa dh igpku

136.	,d cgqHkkf"kd d{kk esa f'k{kd dks lalkèku lkexzh dk fuekZ.k] 
p;u djrs le; ----------- ij lcls vfèkd è;ku nsuk pkfg,A
(1)	 Hkk"kkvksa dh tfVyrk	
(2)	 Hkkf"kd fofoèkrk
(3)	 lalkèku lkexzh dk ewY;	
(4)	 lalkèku lkexzh dh miyCèkrk

137.	cgqHkkf"kdrk ls fuf'pr ------------ ykHk gksrs gSaA
(1)	 HkkoukRed	 (2)	 O;ogkjxr
(3)	 laKkRed	 (4)	 lafØ;kRed

138.	lksís';iw.kZ ys[ku dk mnkgj.k ugha gSµ
(1)	 ukSdjh ds fy, vkosnu i= fyf[k,A
(2)	 eapu ds lkeku dh lwph cukb,A
(3)	 lqys[k dk dk;Z dhft,A
(4)	 lkbfdy pkjksa gks tkus dh lwpuk fyf[k,A

139.	fgUnh Hkk"kk vkdyu dh n`f"V ls dkSu&lk ç'u lcls csgrj gSµ
(1)	 CyM cSad esa jDrnku ls D;k ykHk gSa\
(2)	 [kwu dks ^Hkkuqerh dk fiVkjk* D;ksa dgk tkrk gS\
(3)	 isV esa dhM+s D;ksa gks tkrs gSa\
(4)	 fdlh ,slh ?kVuk dk o.kZu dhft, tc jä dh deh gks xbZ gksA

140.	ikB esa vk, ^O;kogkfjd*] ^'kkjhfjd* 'kCnksa esa ^bd* çR;; dk 
ç;ksx gqvk gSA ßvki Hkh ^bd* çR;; ls rhu 'kCn cukb,AÞ ;g 
ç'u --------------- dk mnkgj.k gSA
(1)	 O;kdj.k dh egÙkk	 (2)	 'kCnkoyh dh egÙkk
(3)	 çR;;ksa ds ç;ksx	 (4)	 lanHkZ esa O;kdj.k

141.	lkekftd var%fØ;k dk mnkgj.k ugha gSµ
(1)	 nqdkunkj ls lkeku [kjhnuk
(2)	 Qy&lCth cspuk
(3)	 Vh-oh- ij èkkjkokfgd ns[kuk
(4)	 iM+ksl ds rkÅth ls ckrphr djuk

142.	vaxzsth ekè;e ds Ldwyksa esa vaxzsth ds opZLo dks de djus ds 
fy, ----------------- ds ewY;oèkZu dh t:jr gSA
(1)	 fgUnh o vU; fons'kh Hkk"kkvksa
(2)	 vU; Hkkjrh; Hkk"kkvksa
(3)	 vU; fons'kh Hkk"kkvksa
(4)	 LFkkuh; o fons'kh Hkk"kkvksa
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143.	fo|ky;ksa esa Hkk"kk nks :iksa esa ekStwnk gSA ,d fo"k; ds :i esa vkSj 
nwljk] ------------ ds :i esaA
(1)	 dyk	 (2)	 ekè;e
(3)	 vfHkO;fDr	 (4)	 vkdyu

144.	d{kk vkB esa cPpksa ds iBu&vocksèku dks fodflr djus dk 
loksZRÏ"V mnkgj.k gSµ
(1)	 vuqPNsn i<+dj ^D;k* okys ç'u iwNukA
(2)	 vuqPNsn i<+dj ç'u cukukA
(3)	 vuqPNsn esa ^laKk* ‘kCnksa dks js[kkafdr djukA
(4)	 vuqPNsn esa dfBu ‘kCnksa dks js[kkafdr djukA

145.	O;kdj.k f'k{k.k dh vkxeu fofèk ------------ ij cy nsrh gSA
(1)	 ikB~;&iqLrd	 (2)	 lw=
(3)	 mnkgj.k	 (4)	 fu;e

146.	Hkk"kk lh[kus&fl[kkus dh çfØ;k dk vfHkUu vax ---------- gSA
(1)	 dfork	 (2)	 dgkuh
(3)	 O;kdj.k	 (4)	 vkdyu

147.	Hkk"kk dkS'kyksa ds fodkl dh n`f"V ls dkSu&lh xfrfofèk lokZfèkd 
mi;qDr gS\
(1)	 jsfM;ks ij Hkk"k.k lquuk	 (2)	 futh dgkuh dk eapu djuk
(3)	 Jqrys[k djuk	 (4)	 lqys[k djuk

148.	cPpksa dh l`tukRed fyf[kr vfHkO;fDr ds fodkl esa lokZfèkd 
lgk;d gSµ
(1)	 dgkuh dk 'kh"kZd fy[kuk	 (2)	 dfork dk 'kh"kZd fy[kuk
(3)	 foKkiu] iksLVj cukuk	 (4)	 lqudj fy[kuk

149.	i<+us dh çfØ;k esa lokZfèkd egRoiw.kZ gSµ
(1)	 dfBu 'kCnksa dk vFkZ	 (2)	 rhoz xfr ls i<+uk
(3)	 vFkZ&O;tauk	 (4)	 ik=ksa dk uke ;kn j[kuk

150.	d{kk lkr dh lyek vDlj ^idM+* dks ^idM* vkSj ^Me:* dks 
^Me:* fy[krh gSA ,d Hkk"kk f'k{kd ds :i esa vki D;k dgsaxs\
(1)	 lyek ^M* vkSj ^M+* dk Kku ugha j[krhA
(2)	 lyek ykijokgh ls fy[krh gSA
(3)	 lyek dh ys[ku esa v#fp gSA	
(4)	 lyek dk] ^M*@^M+* dk èofu&ladsr lacaèk detksj gSA
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1.	 Option (1) is correct.
Explanation:
(A)	 Humans are able to learn and 

remember new things in motor 
and cognitive domains through-
out their life span. This is true 
as humans have the capacity to 
acquire new knowledge and skills, 
both in terms of physical actions 
(motor domain) and mental 
processes (cognitive domain) 
throughout their lives.

(R)	 The outcome of a severely 
deprived childhood can be easily 
changed in later years. This is 
true as research has shown that 
individuals who have experienced 
severe deprivation or adversity 
in their early years can still 
undergo positive changes and 
improvements in various aspects 
of their lives when provided 
with supportive and enriching 
environments in later years.

Therefore, both (A) and (R) are true, 
and (R) provides a correct explanation 
of (A).

2.	 Option (2) is correct.
Explanation: Principle of spiral 
versus linear advancement:
The path followed in development by 
the child is not straight and linear, and 
development at any stage never takes 
place at a constant or steady pace.
The principles are:
1.	 Development is Continuous
2.	 Development is Gradual
3.	 Development is Sequential
4.	 Rate of Development Varies 

Person to Person
5.	 Development Proceeds from 

General to Specific
Growth is not linear. It is multi-
dimensional. Growth does not follow 
a straight line but rather a spiral 
through space-time.
A child's brain development is affected 
by the environment (what a child is 
born with; their inherited traits and 
abilities) and nurture (what a child 
experiences, the care they receive, 
and their relationships with people).
A spiral curriculum focuses on 
revisiting topics, subjects or themes 
throughout the course, but it is not 
just the repetition of a topic taught. 
It also requires deepening, with each 
successive encounter building on the 
previous one.

3.	 Option (1) is correct.
Explanation: Mass media are many, 
which are technically called passive 
agencies of education. They influence 
the attitude and behaviour of the 
people indirectly. These agencies 
cover entertainment, books, educa-
tional institutions and morality and 
moral tone of the people.
Social media in the classroom can 
prevent human interaction. 
Cyberbullying on social media 
websites and posting inappropriate 
content on social media websites 
impact a person negatively.
The children watching cartoons 
exhibited a high-level language acqui-
sition and cognitive development; 
however, they sometimes exhibited 
aggressive and violent behaviours 
toward their siblings and friends.

4.	 Option (3) is correct.
Explanation: The methods involved 
in experimental learning and assess-
ment:
n	Education for society and demo-

cracy.
n	Collaborative and cooperative 

learning.
n	Learning as opposed to rote 

knowledge.
n	Flexible timetable and seating 

arrangement.
n	Emphasis on lifelong learning and 

social skills.
n	Integrated curriculum focused on 

thematic units.
A system of education that gives 
flexibility in learning procedures 
through activities determined by the 
needs and capacities of the individual 
child, aiming to integrate academic 
with social development. 

5.	 Option (2) is correct.
Explanation: The theory of cognitive 
development (Jean Piaget) suggests 
that children move through four 
stages of intellectual development 
and the maturity of children's 
thoughts at each stage—a Child's 
development results from physical 
and cognitive (biological) maturation 
and environmental exposure.
Each stage experiences a different 
type of intelligence.

Stage Age Goal

Sensori-
motor

Birth to  
18-24 
months

Object 
permanence

Pre-
operational

2 to 7 years 
old

Symbolic 
thought

Concrete 
operational

7 to 11 years Logical 
thought

Formal 
operational

Adolescence 
to adulthood

Scientific 
reasoning

6.	 Option (2) is correct.
Explanation: At about age 11, 
adolescents can think abstractly and 
combine and classify items more 
sophisticatedly during the formal 
operational stage.
They can understand division and 
fractions without dividing things and 
solve theoretical problems.
Significant Characteristics and Deve-
lopmental Changes:
Concrete operations relate to things, 
whereas formal operations relate to 
ideas. Formal operational thought 
is free from physical and perceptual 
constraints.
Adolescents can deal with theoretical 
problems with many possible solu-
tions, which helps them to engage 
in scientific reasoning, politics, ethics 
and more.

7.	 Option (3) is correct.
Explanation: Vygotsky's socio-
cultural theory states that a child 
learns language and gains knowledge 
through social interactions. His 
theory states that "learning is a 
crucially social process instead of an 
independent journey of discovery." 
In his theory, culture is essential in 
shaping cognitive development and 
varies in different cultures. He also 
emphasized the role of language as 
the root of all learning, an essential 
tool for communication and cognitive 
development.
He emphasized the role of cultural 
tools such as books, media, computers, 
and social software and psychological 
tools (language, signs, writing, and 
symbols) in cognitive development.

8.	 Option (4) is correct.
Explanation: Vygotsky's theory of 
scaffolding focuses on the ability of 
an individual to learn information 
through the help of a more informed 
individual. When used effectively, 
scaffolding can help students learn 
content they would not have been 
able to process independently. 
Vygotsky's scaffolding theory helps 
learners understand new information 
and content by working with an 
educator who has a better knowledge 
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of the material, making the learning 
process manageable for everyone.

9.	 Option (1) is correct.
Explanation: Stage 3 (developing good 
interpersonal relationships) of moral 
development by Kohlberg refers to 
the "good boy-good girl" orientation, 
living up to social expectations and 
roles. Again, the emphasis is on 
conforming to the social standards 
of being "nice" and considering how 
choices influence relationships.

10.	 Option (4) is correct.
Explanation: In his multiple intelli-
gence theory, Howard Gardner states 
that people have multiple kinds of 
intelligence, such as musical, inter-
personal, spatial-visual, and linguistic 
intelligence. He further suggests that 
a  person may possess a range of 
abilities. For example, an individual 
might have good verbal, musical, and 
naturalistic intelligence skills.
Eight kinds of intelligence he 
proposed are:
n	Linguistics
n	Musical
n	Logical-mathematical
n	Spatial
n	Bodily-kinesthetic
n	Interpersonal
n	Intrapersonal
n	Naturalist

11.	 Option (2) is correct.
Explanation: In order to encourage 
students to recognize gender stereo-
types and make them challenge them:
A teacher should create a safe space 
and prompt children to challenge 
stereotypes when they hear them.
They should be encouraged to talk 
about stereotypes.
A teacher should provide a range of 
role models to create awareness. For 
example, division in the class and 
seating arrangements should not be 
gender-based, and there should be no  
'girls' and boys' jobs.

12.	 Option (1) is correct.
Explanation: Piaget considered that 
cognitive development is indepen-
dent of language and thought deter-
mines language. According to Piaget, 
thought emerges first, and language 
becomes the intermediary providing 
how later concepts and conceptual 
thinking develop.
Piaget believed children need first 
to develop mentally before language 
acquisition can occur. According 
to him, children first create mental 
structures within the mind (schemas), 
and from these schemas, language 
development happens.

13.	 Option (2) is correct.
Explanation: NEP 2020 aims to 
transform the nature of learning 
assessments from one that is 
summative and primarily tests rote 
memorization skills to one that is:

1.	 More regular and formative,
2.	 more competency-based and
3.	 �one that tests higher-order skills, 

such as analysis, critical thinking, 
and conceptual clarity.

14.	 Option (2) is correct.
Explanation: Labelling affects child-
ren and the way they perceive them-
selves. For example, how a child gets 
labelled by parents, teachers, friends, 
or society can affect his image of 
himself. 
A labelled child's personality will be 
a reflection of it. Labelling often does 
more damage than good by putting 
children in boxes.
When students get identified with a 
label, it is very likely that they will 
experience social stigmatization and 
might feel treated equally.

15.	 Option (2) is correct.
Explanation: A culturally inclusive 
curriculum reflects society's cultural, 
linguistic and religious diversity.
Teachers strive to provide the 
necessary support to encourage their 
participation.
The following are the characteristics 
of a culturally inclusive classroom:
The teacher organizes the classroom 
with the scope of heterogeneity in the 
classroom.
The teacher takes exceptional care of 
disabled children.
The teacher seeks the support of 
specialists to help slow learners.
The teacher shows sympathy for 
students with disabilities.

16.	 Option (3) is correct.
Explanation: Dyslexia is a learning 
disorder.
It causes difficulty in reading, and 
and individuals with dyslexia have 
difficulty identifying speech sounds 
and learning to associate them with 
letters and words (decoding). 
It is also called a reading disability. 
Dyslexia results from individual 
differences in areas of the brain that 
process language.

17.	 Option (3) is correct.
Explanation: Creative children can 
create or produce something. They 
can solve problems or tasks creatively 
by generating many original ideas. 
A  child with a  creative mind will 
display high levels of ability to create 
original and imaginative ideas.

18.	 Option (3) is correct.
Explanation: ADHD is a neuro-
developmental disorder in a child 
which affects brain development.
It can persist into adulthood. Children 
with ADHD  have the following 
symptoms:
First, they have difficulty paying 
attention.
They may have difficulty controlling 
impulsive behaviours and acting  

without considering the consequen-
ces.
They may display hyperactivity.

19.	 Option (3) is correct.
Explanation: Ability grouping in 
language education refers to putt-
ing students in a classroom or small 
groups based on ability or achieve-
ment by assessing ability with a 
standardized test and practising 
grouping of learners based on 
their strengths and talents within a 
learning environment.

20.	 Option (4) is correct.
Explanation: Gifted students have an 
enhanced intellectual, academic, and 
social-emotional quotient.
They can comprehend information 
which is above as compared to their 
peers.
They exhibit astounding emotional 
depth and sensitivity at a young age.
They have an intense curiosity and 
are enthusiastic about unique inter-
ests and topics.  
They have a mature sense of humour, 
creative problem-solving and imagi-
native expression.
They have the ability to grasp new 
information quickly with minimal 
repetition.

21.	 Option (4) is correct.
Explanation: Self-reflection. Engag-
ing students in self-reflection activi-
ties helps them analyze their own 
learning processes, assess their 
strengths and weaknesses, and set 
goals for improvement. A teacher 
can encourage students to reflect on 
their actions, thoughts, and learning 
experiences to foster self-awareness 
and personal growth. This can be 
achieved through activities such as 
journaling, group discussions, and 
individual reflection exercises.

22.	 Option (3) is correct.
Explanation: Conceptual learning 
helps students and teachers under-
stand how the concepts inter-relate 
by using various methods like 
categorizing, naming, and sorting 
activities to understand individual 
concepts. 
For example, a teacher can ask 
students, "What is it like?" and invite 
them to describe the key features.

23.	 Option (2) is correct.
Explanation: Some characteristics of 
effective teaching practices:
A teacher should implement tasks 
that promote reasoning and problem-
solving by posing purposeful ques-
tions.
A teacher should build procedural 
fluency from conceptual understand-
ing.

24.	 Option (2) is correct.
Explanation: The Discovery Learning 
Method advocated by Jerome Bruner 
is a constructivist theory stating 
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that students construct their under-
standing and knowledge of the world 
through their own experiences and 
reflections.
The five principles of discovery 
learning are problem-solving, learner 
management, integrating, connect-
ing, information analysis, and failure 
& feedback. 

25.	 Option (3) is correct.
Explanation: A graphic organizer is 
a teaching tool using visual symbols 
to express knowledge and concepts, 
demonstrating relationships between 
facts, concepts or ideas. It guides the 
user's thinking as they build and 
fill in the graphic organizer. It is 
also known as a knowledge map, 
concept map, story map, cognitive 
organizer, advance organizer, or 
concept diagram.

26.	 Option (2) is correct.
Explanation: When examining the 
gap in student performance, the 
first unit of analysis should be the 
child. Understanding the individ-
ual student's abilities, learning 
styles, strengths, weaknesses, and 
socio-emotional factors can provide 
valuable insights into the under-
performance. This analysis helps 
identify specific areas of improvement 
and tailor instructional approaches 
to meet the individual needs of 
students. It is important to consider 
other factors such as the system, 
community, and parents as well, but 
the focus should initially be on the 
child as the primary unit of analysis.

27.	 Option (3) is correct.
Explanation: Intrinsic motivation is 
doing something for self-satisfaction 
rather than for some goal-oriented 
purpose. 
For example, an intrinsically moti-
vated person acts for the fun or 
challenge than for external products, 
pressures, or rewards.

28.	 Option (4) is correct.
Explanation: Curiosity stimulates 
learning and plays a significant role in 
learner engagement. People learn the 
information they are curious about 
better, as curiosity learning is more 
enjoyable and rewarding.

29.	 Option (1) is correct.
Explanation: The assertion that 
teachers must encourage children to 
share their "naïve" or intuitive theories 
is true. Intuitive theories refer to the 
initial ideas or understandings that 
children develops. Like a ball fell on 
ground and child sudden learned that 
things will fall towards the ground 
from hand. By encouraging children 
to share these theories, teachers 
can gain insights into their thought 
processes and misconceptions, which 
can inform instruction and support 
students' learning.

The reason that all children start off 
with pre-conceptions of reality and 
these conceptions influence their 
understanding in schools is also 
true. Children's prior knowledge 
and intuitive theories shape their 
interpretation and understanding of 
new information. Teachers need to 
be aware of these pre-conceptions 
and address any misconceptions or 
gaps in understanding to facilitate 
meaningful learning.
Therefore, both the assertion and 
the reason are true, and the reason 
provides a valid explanation for the 
assertion.

30.	 Option (1) is correct.
Explanation:  In a socio-constructivist 
classroom, the main focus should be 
on tasks that are interesting and make 
students think deeply. These tasks 
should challenge them to use their 
critical thinking skills and come up 
with their own ideas. It's important 
for students to actively participate, 
solve problems, and work together 
with their classmates. This way, 
they can learn more effectively and 
develop their thinking abilities.

Mathematics and Science
31.	 Option (3) is correct.

Explanation:
Terminating decimal refers to 
the decimal with finite number 
of digits.

Option 1.
	

7
18 	

= 0.3888...

			   = 0.38
It is a non-terminating decimal

Option 2.
	

11
250 	

= 0.044

It is a termination decimal

Option 3.	 21
28 	

= 0.75

It is a terminating decimal.

So, both 11
250  

and 21
28  

are terminating 

decimal.
32.	 Option (4) is correct.

Explanation: 

Given:
	

547 527
0 0082

.
. 	

= x

⇒		  x	 = 
547527

82
10000
1000

�
�
�

�
�
��

�
�
�

�
�
�

⇒		  x	 = 
547527

82
10�

�
�

�
�
��

⇒
		

x
10 	

= 
547527

82

33.	 Option (1) is correct.
Explanation: 
Given: Distance = 384,000,000 m
As per the standard form, it can be 
written as:
⇒	 (3.84 × 100,000,000) m

⇒	 (3.84 × 108) m
Now, as per the question,
		 3.84 × 108	= p × 10n

⇒	 p = 3.84 and n = 8.
34.	 Option (3) is correct.

Explanation: Positive numbers are 
always greater than the negative 
numbers.
Here, there are 2 negative numbers 

i.e.
 
− −1

3
5

2
1
3

 and 

To find the smaller number, we have 
to make the denominator same

⇒	
	

−1
3
5 	

=  = � � �
18
5

3
3

24
15

and	
	

−2
1
3 	

=  = 
�

� �
7

3
5
5

35
15

According to the above calculation, 

−2
1
3  

is the
 
smallest.

Now, comparing the other three 
positive numbers.

⇒	
	

1
2 	

= 0.5

and	
	

2
5 	

= 0.4

and	
	

2
5

100
�
�
�

�
�
�

	
= (0.4)100

So, here the order will be (0.4)100 < 
0.4 < 0.5
Therefore, ascending order of the 
given numbers is:

� � �
�
�

�
�
�2

1
3

1
3
5

2
5

2
5

1
2

100

, , , ,

35.	 Option (4) is correct.
Explanation: Rule—If the 
difference between the sum of 
digits in even place and in odd 
place is divisible by 11, then the 
number will be divisible by 11.
Given: Number is @ 78 × 3945
Sum at even place
			   = 8 + 3 + 4 = 15
Sum at odd place			 
			   = 7 + x + 9 + 5
			   = 21 + x
	 Difference	 = 15 – (21 + x)
			   = 15 – 21 – x
			   = –6 – x
Now, putting all the options 
in place of x and seeing which 
number will be divisible by 11.
So, the number has to be 5 as
		  –6 – 5	 = –11
which is divisible by 11.
Therefore,	 x	 = 5.

36.	 Option (2) is correct.
Explanation: 
Let		  (x – 3)	 = a
⇒		  a2 + 5a + 4
⇒		  a2 + a + 4a + 4
⇒		 a(a + 1) + 4(a + 1)
⇒		  (a + 1)(a + 4)
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Now, putting a = x – 3
⇒	 (x – 3 + 1)(x – 3 + 4)
⇒		  (x – 2)(x + 1)
Therefore, one of the factor will be 
(x – 2)

37.	 Option (4) is correct.
Explanation: 

Given:
	

x

x

a

b

2

2

	
= x12

⇒		  x a b( )2 2−
	 = x12�

�
Q

x
x

x
m

n
m n = ��

�
�

�

�
�

⇒		  a2 – b2	 = 12� [Q x > 1]
⇒		 (a + b)(a – b)	= 12�
� [Q m2 – n2 = (m + n)(m – n)]
⇒		 (a + b) × (3)	= 12�[Q (a – b) = 3]

⇒		  a + b	 = 
12
3

⇒		  a + b	 = 4
38.	 Option (3) is correct.

Explanation:	

	  

1 1
a b
−

	
=  = 

b a
ab

a b
ab

− − −( )

(a – b) is given in the question.
Therefore, have to find the value of 
ab.
Formula:	 (a – b)2	 = a2 + b2 – 2ab
⇒		  (7)2	 = 29 – 2ab�
� [Q (a – b) = 7 and a2 + b2 = 29]
⇒		  49 – 29	 = –2ab

⇒
		

20
2 	

= –ab

⇒		    ab	 = –10
Putting the value of (a – b) and ab in 
the equation

⇒
		

− −( )a b
ab 	

=  = 
−
−

7
10

7
10

Therefore, the value of 

		

1 1
a b
−

	
= 

7
10

39.	 Option (4) is correct.
Explanation: 
Given:	 p	 = 2x4 – x3y3 + 7y4

		  q	 = x4 + 3x3y3 – 5y4

		  r	 = 3x4 – 4x3y3 + 2y4

p + q – r
⇒	 (2x4 – x3y3 + 7y4) + (x4 + 3x3y3 
– 5y4) �
� – (3x4 – 4x3y3 + 2y4)
⇒	 (2x4 + x4 – 3x4) + (–x3y3 + 3x3y3 
+ 4x3y3)�
� + (7y4 – 5y4 – 2y4)
⇒	 0x4 + 6x3y3 + 0y4

⇒	 6x3y3

40.	 Option (1) is correct.
Explanation: 

Given:
	

7
5 1
�
�
x

x 	
= 3

⇒		  7 – x	 = 3(5x + 1)
⇒		  7 – x	 = 15x + 3
⇒		  –x – 15x	 = 3 – 7
⇒		  –16x	 = –4

⇒		  x
	

=  = 
−
−

4
16

1
4

Putting the value of
 

x
x
x

 =  in 
1
4

1
1

�
�

⇒

		

1
4

1

1
4

1

�

�

⇒

		

1 4
4

1 4
4

�

�

	

=  = 
1 4
1 4

5
3

�
� �

So, the value of
 

x
x
�
�

�1
1

5
3

 is .

41.	 Option (2) is correct.
Explanation: 

		

Mean

	

= 

Total sum of all 
observations
Number of 
observations

Here, total sum of all observations
			   = �x + x + 3 + x + 6 

+ x + 9 + x + 12
			   = 5x + 30
			   = 5(x + 6)
Number of observations = 5

⇒		  Mean
	

= 
5 6

5
( )x +

⇒		  15
	

= 
5 6

5
( )x +

⇒		  15	 = x + 6
⇒		  x	 = 9
Now, mean of first three obsevation 
is:

		
Mean

	
= 

x x x+ + + +3 6
3

			 
= 

9 9 3 9 6
3

+ + + +

�
� [Q x = 9]

			 
= 

36
3

		  Mean	 = 12
42.	 Option (1) is correct.

Explanation: 	
Probability

		
= 

Favourable outcomes
Total number of outcomes

Here,	total number of outcomes		
		  = 52
Number of king cards in a deck		
		  = 4
Therefore,	favourable outcomes
		  = 52 – 4
		  = 48
So, probability of a card of not being 
a king

			 
=  = 

48
52

12
13

Therefore, probability is 12
13

.

43.	 Option (1) is correct.
Explanation: 
Given:	 Diameter	 = 105 cm

⇒	 Radius
	

= 
Diameter

2

		
= 

105
2

		
= 52.5 cm

	Total distance to be covered		
		  = 330 m
Converting into cm
	 Distance	 = (330 × 100)cm
		  = 33000 cm
Now, 	circumference of a circle
		  = 2 × p × Radius

		
= 2

22
7

52 5× × .

		  = 330 cm
		 Distance	 = �Circumference × 

Number of times 
wheel rotate

⇒		  33000	 = 330 × Number of 
times wheel rotate
⇒	 Number of times wheel rotate

			 
= 

33000
330

			   = 100 times.
44.	 Option (1) is correct.

Explanation: 
For first cylinder
		  Radius	 = 7 cm
		  Height	 = 12 cm
		  Volume	 = pr2h
where r = radius and h = height
let V1 be the volume of 1st cylinder
⇒		  V1	 = pr2h

⇒		  V1
	

= 
22
7

7 122× ×( )

			   = 1848 cm2

For second cylinder [By interchanging 
radius and height]
		  Radius	 = 12 cm
		  Height	 = 7 cm
Let V2 be the volume of 2nd cylinder
⇒		  V2	 = pr2h

⇒		  V2	 = 
22
7

12 72× ×( )

			   = 3168 cm3

As per the question,
Volume of first cylinder : Volume of 
second cylinder
⇒		  V1	 : V2
⇒		  1848	 : 3168 = 7 : 12
So, the ratio of the volumes is  7 : 12

45.	 Option (1) is correct.
Explanation: 
	 Area of a square	 = a2 
[where a is the length of a side of 
square]
	Perimeter of a square = 4a
	 Area of a circle	 = pr2�

[where r is the radius]
	Perimeter of a circle	= 2pr
As per the question,
	 Area of square A	 = Area of circle B
⇒	 a2	 = pr2

⇒	 a	 = pr

To find : Perimeter of A
Perimeter of B

⇒
	

4
2
a
rp
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⇒
	

4
2
� �
�

r
r �

[Q a == pr ]

⇒
	

2
p

Therefore, the ratio of perimeter is 2 

: p

46.	 Option (3) is correct.
Explanation: As per the question,
		  DABC	 @ DPRQ
Where AB = PR and BC = QR
According to SAS (Side Angle Side) 
rule, if two sides and the included 
angle of a triangle are equal to the 
two sides and the included angle of 
another triangle, then the triangles 
are said to be congurent.
So, the diagram as per the question 
should be:

Here, the angle between the two sides 
that are same are ∠B and ∠R.
Therefore, we have to show ∠B = ∠R 
to make SAS rule to be applicable in 
this question.

47.	 Option (3) is correct.
Explanation: Both the statements are 
true
l	S1 is true because in order to 

complete a triangle, one must 
know its three sides.

l	S2 is also true because a 
unique quadrilateral cannot be 
constructed if only its four sides 
are known.

The angles also needs to be known 
to construct it.
Therefore, both statements are 
correct.

48.	 Option (1) is correct.
Explanation: Definition of Line of 
symmetry: It refers to the imaginary 
line that divides an object or a shape 
into equal halves.
Here, Assertion (A) is true because 
a rectangle has 2 lines of symmetry

Here, Reason (R) is not true because 
every parallelogram does not have 
lines of symmetry. For example, an 
irregular parallelogram has zero lines 
of symmetry.

So, Assertion (A) is correct but Reason 
(R) is incorrect.

49.	 Option (4) is correct.
Explanation: 
Given:	 n	 = F + V
where	 F	 = �number of faces of 

a polyhedron
		  V	 = �number of vertices 

of a polyhedron
	Number of edges	 = 30
As per Euler’s formula,
		  F + V	 = E + 2
⇒		  n	 = 30 + 2�
� [Q n = F + V]
⇒		  n	 = 32
To find:
	 	 2n + 1	 = (2 × 32) + 1
			   = 64 + 1
			   = 65
Therefore, value of (2n + 1) is 65.

50.	 Option (3) is correct.
Explanation: Both the statements are 
true.
As per the congruency rule, all the 
angles and sides of a polygon are 
equal to the corresponding angles 
and sides of its congruent polygon.

As shown in the diagram, the above 
two polygons that is polygon PQRST 
and polygon P’Q’R’S’T’ are congruent 
which means their corresponding 
angles and sides are equal.
Therefore, both S1 and S2 are correct.

51.	 Option (3) is correct.
Explanation: 
l	Manipulatives refers to the 

objects that provides hands-on 
experience to students so that 
learn the concepts in a better 
understandable way.

l	Manipulative helps students 
in understanding a confusing 
concept by providing them with 
objects that they can use to test 
and apply their reasoning to.

l	Manipulative helps students in 
understanding difficult concpets 
by connecting mathematical 
concepts with physical objects.

l	Manipulative helps students by 
making mathematics interesting 
and also builds confidence among 
them.

Therefore, if a middle grade children 
sometimes do not regard rectangles 

and squares as parallelograms, then 
the teacher should manipulates.

52.	 Option (1) is correct.
Explanation: Activity based learning 
refers to the process where students 
learn through hands-on experience.
l	Mathematics laboratories refers to 

the place where children can learn 
and explore and experiments 
different concepts of mathematics.

l	It is a way to learn the concepts of 
mathematics through a practical 
way where the concepts can be 
understood by experimentation 
and exploration.

l	It develops interest among the 
students to understand the 
facts and concepts related to 
mathematics.

l	Therefore, we can consider 
mathematics laboratories to be an 
important teaching and learning 
process.

53.	 Option (3) is correct.
Explanation: Van Heile’s theory 
describes the way using which the 
students can learn and pass geometry 
at various levels.
The levels of Val Hieles’s theory are:
l	Level 0: Recognition: It refers 

to the recognition of figures by 
just looking at them. Students 
can recognise shapes and figures 
through their appearance.

l	Level 1: Analysis: Students will learn 
to analyse the different components 
of different shapes and figures. 
They can identify the properties of 
different figures which means they 
can identify the shape and can also 
explain their properties.

l	Level 2: Relationship/Informal 
Deduction: Students will be able 
to understand the connections 
between different properties of 
a shape or figure. For example, if 
they know that the opposite sides 
of a parallelogram are parallel, then 
they can develop the understanding 
that square and rectangle are 
also parallelogram because their 
opposite sides are also parallel.

l	Level 3: Deduction: Students will 
gain much more knowledge of 
concepts of geometry. They will 
be able to prove statements based 
on their knowledge of properties 
of different figures.

l	Level 4: Reasoning: Students will 
be able to differentiate or compare 
geometrical results. They will be 
able to use properties to solve 
problems of geometry.

54.	 Option (2) is correct.
Explanation: Ravi has used the 
‘Transposition’ method to solve the 
algebraic equation.
l	In transposition, students tries to 

equate both ‘left side’ and ‘right 
side’ of the equation.
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l	The aim of this method is to 

bring the same terms from both 
the side together and isolating the 
variable.

For example, in this question, we 
bring 26 and 14 and 2 together and 
isolated x.
⇒		  2x	 = 26 – 14

⇒		  x
	

= 
26 14

2
−

After that, we can find the value of 
variable.
Therefore, ‘Transposition’ is the 
answer.

55.	 Option (2) is correct.
Explanation: 
l	Mean is the sum of all values 

divided by the number of values 
or terms.

l	It considers each and every value 
in the data set.

l	It is a measure of central tendency. 
It is applicable on both large and 
small sets of data.

l	The problem with mean is that it 
is sensitive to outliers or extreme 
values.

Therefore, the misconception about 
mean is that it is used everywhere 
regardless of the data’s context.

56.	 Option (2) is correct.
Explanation: 
l	Questioning in a classroom help 

children in exploring their ideas, 
beliefs and knowledge.

l	It helps students in gaining deep 
knowledge about a particular 
concept and also develop 
analytical skills.

l	It helps children in expressing 
their views and make them feel 
confident about their opinions.

l	Questioning helps in improving 
skills of students.

57.	 Option (1) is correct.
Explanation: Multiplicative inverse 
refers to another number which 
when multiplied by the original 
number will give ‘1’ as the answer

Here,
	

a
b 	

≠ 0

If we multiply a
b

b
a

 by , then 1 will 
be answer.

⇒
	 	

a
b

b
a

×
	
= 1

Therefore,
 

b
a  

is the multiplicative 

inverse of a
b

.

58.	 Option (1) is correct.
Explanation: 
l	Activity based learning refers to 

the process where students learn 
through hands-on experience.

l	Here, the teacher wanted to 
provide practical knowledge 

to its students so that they can 
understand the relationship 
between the perimeter and 
area of the rectangle in a much 
understandable and better way.

It is a way of developing deeper 
knowledge about the relationship in 
a fun way or practical way.

59.	 Option (1) is correct.
Explanation: 
l	Mathematics play an important 

role in our lives. We use the 
concepts of mathematics in our 
daily lives. It is a combination of 
geometry, quantitative  calcula-
tions, reasoning, etc.

l	The statement in the question has 
been given by David wheeler.

l	Mathematics can be both learnt and 
enjoyed at the same time. Schools, 
now-a-days, try to make students 
understand and gain knowledge of 
the concepts of mathematics in a 
fun and practical way.

60.	 Option (3) is correct.
Explanation: At middle school level, 
the role of a teacher is to:
l	Teach mathematics in a creative 

way that develops the interest of 
student in learning mathematics.

l	The teacher must have knowledge 
of mathematics and content-
specific pedagogy.

l	The teacher should try to develop 
deep understanding of concepts 
among the students.

l	Teacher should indulge students 
in activity-based learning  in order 
to develop their critical thinking 
and analytical skills.

61.	 Option (3) is correct.
Explanation: 
l	Malleable material: These can 

be easily transformed into a thin 
sheet. For example, the sheet used 
for wrapping food items.

l	Conductivity: It is a characteristic 
of material as per which heat or 
electric charges can pass through 
them.

l	Ductility: It is the ability of a 
material to be drawn into a thin 
wire. Example: Gold.

l	Thermal expansion: When the 
volume of material expands due 
to a increase in temperature, then 
it is called thermal expansion. 
This functioning is also used in 
thermometers.

l	Melting point: It refers to the 
point where the state of materials 
change from solid to liquid.

62.	 Option (3) is correct.
Explanation: Vitamins are biomole-
cules which are very important for our 
body. They prevent us from various 
diseases.
Vitamins are of two types.

a.	 Water soluble vitamins: 
Examples are vitamin C and all 
vitamin B.

b.	 Fat soluble vitamins: Examples 
are vitamin A, D, E and K.

63.	 Option (4) is correct.
Explanation: 
l	Removal of surplus water 

from plant’s body is known 
as ‘transpiration’. It is done to 
prevent plant decay.

l	When plants are exposed to direct 
sunlight, then transpiration help 
in the cooling of plants.

l	Transpiration act as a medium 
that helps in the absorption and 
distribution of water and minerals 
in plants.

l	Also helps in exchange of gases 
by absorbing CO2 and releasing 
oxygen during photosynthesis.

64.	 Option (2) is correct.
Explanation: The formula of pressure 
is:

		
Pressure

	
= 

Force (F)
Area (A)

l	As shown in the formula above, 
pressure is inversely proportional 
to the area, so first statement is 
correct.

l	It is also seen that pressure is 
directly proportional to force, so 
second statement is incorrect.

l	The unit of force is Newton and 
the unit of pressure is N/m2, so 
third statement is also incorrect.

65.	 Option (1) is correct.
Explanation: 
l	The nature of the chemical that 

cause sting was ‘Acidic‘. Acids are 
sour in taste and their pH is below 7.

l	The nature of the juice in the leaf 
that the instructor used is ‘Basic’. 
Bases are bitter in taste and their 
touch is soupy. Their pH range 
falls above 7.

l	So, in this case, instructor used 
bases in order to neutralise the 
impact of acid.

l	So, in this case, instructor used 
bases in order to neutralise the 
impact of acid.

66.	 Option (4) is correct.
Explanation: 
l	 Different animals have different 

respiratory organs.
l	 For whales and dolphins: They 

both are mammals and use 
‘lungs’ as their respiratory organ. 
They don’t have gills. They use 
blowhole (set of nostrils on top of 
their heads) to breathe.

l	 For sharks: They use ‘gills’ as their 
respiratory organ, like many other 
fishes. 

67.	 Option (3) is correct.
Explanation: 
l	 Human excretory system refers 

to the organ system that is used 
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to remove the waste products out 
from the body.

l	 The above diagram shows the 
process of excretion. The path 
followed by waste to be removed 
from body is:

	 Kidney → Ureters → Urinary 
Bladder → Urethra

68.	 Option (2) is correct.
Explanation: 
l	 There are two modes of 

reproduction in plants and 
animals—Animals reproduction 
and Sexual reproduction.

l	 Cutting: It is a type of asexual 
reproduction in plants. It is also 
called vegetative reproduction 
where vegetative parts of plant 
like stem, root, etc. are used to 
form new plants, garlic, rose, etc. 
are the examples of cutting.

l	 Spores formation: It is also a type 
of asexual reproduction spores 
are stored in sacs which is called 
sporangia. Ferns are the example 
of spore formation.

l	 Fragmantation: It is a type of 
asexual reproduction where the 
parental body breaks into two 
or more fragments which in turn 
grows into a new individual. 
Spirogyra is an example of 
fragmentation.

l	 Budding: It is a type of asexual 
reproduction where one or more 
buds are produced that were 
attached to parent cell but later on, 
they separate and grow into a new 
individual for example—yeast.

69.	 Option (3) is correct.
Explanation: 
l	 The number of atoms remain 

same after a chemical reaction. 
They got rearranged in order to 
form different substances, but the 
number and type of atoms remain 
unchanged.

l	 Total mass also remains same before 
and after a chemical reaction. As 
per the law of conservation of 
mass, matter cannot be destroyed 
or created.

70.	 Option (3) is correct.
Explanation: 
Hydrogen gas is released with a 
popping sound when a metal reacts 
with acid. It also forms metal salt 

along with the release of hydrogen 
gas.
For example—Iron reacts with 
sulfuric acid to form iron sulfate and 
release hydrogen gas with popping 
sound.
Fe(s) + H2SO4(aq) 
		  →	 FeSO4(aq) + H2(g)

71.	 Option (1) is correct.
Explanation: 
l	 Low ignition temperature is one 

of the quality of a good fuel that 
is the lowest temperature at which 
it catches fire.

l	 High calorific value is also one 
of the quality of a good fuel. It is 
the energy released when specific 
amount is heated.

l	 Easy availability is also a quality of 
good fuel.

l	 Caution: As per the answer key, 
option D is correct. But as per 
NCERT, option A is correct.

72.	 Option (3) is correct.
Explanation: 
l	 The purpose is to remove the 

organic impurities.
l	 Potassium permanganate oxidizes 

the impurities from water by 
converting them into solid 
particles.

l	 It is also used to treat bacterial 
infections.

73.	 Option (3) is correct.
Explanation: 
l	 Electric circuit refers to a closed-

loop network of switches, resistors, 
power sources and electric wires.

l	 The flow of current has been 
controlled by a switch in a circuit.

l	 Here, Assertion (A) is false as 
switch is not a source of current 
in a circuit. The source is a battery 
or an electric cell.

l	 Reasoning (R) is true as the gap 
between the terminals break 
the circuit and prevent flow of 
current.

74.	 Option (3) is correct.
Explanation: Let the velocity and 
mass of lighter object be V1 and m1
Let the velocity and mass of heavier 
object be V2 and  m2.
As per the question, their kinetic 
energy is same
So, 
K.E. of lighter object
		 = K.E. of heavier object

⇒
		

1
2 1

2
1

m V
	

= V
1
2 2 2

2m

⇒
		

m
m

1

2 	
= 

V
V

2

1

2
�

�
�

�

�
�

As the mass of heavier object will be 
more than lighter one
⇒		  m2	 > m1

⇒
		

m
m

1

2 	
< 1

⇒
		

V
V

2
2

2
2

	
< 1

⇒		  V2
2	 < V1

2

This shows that the velocity of lighter 
objects will be more than the heavier 
object.

75.	 Option (1) is correct.
Explanation: 
l	 An earthquake is a natural disaster 

that leads to shaking of the surface 
of earth.

l	 The point inside the earth 
where the earthquake originates 
in known as the focus of the 
earthquake. It is also called 
hypocenter. The point directly 
above it on the surface of earth is 
called Epicenter.

l	 Caution: As per the answer key, 
option (2) is correct but the right 
answer is option (1).

76.	 Option (3) is correct.
Explanation: 
l	 There is no fixed size in a magnet. 

A magnet refers to a material that 
has the ability to attract iron and to 
produce a magnetic field outside it.

l	 The method that can be used to 
demagnetize are:
n	 Dropping magnet on floor
n	 Keeping high temperature in 

magnet
n	 Hammering the magnet
n	 Using alternating current 

while rotating magnet
77.	 Option (1) is correct.

Explanation: 
l	 Friction is a force that resists the 

motion between the objects.
l	 The different types of friction are:

n	 Rolling friction: It happens 
when an object rolls along a 
surface. It is less than sliding 
friction or static friction.

n	 Sliding friction: It happens 
when an object slides along 
a surface. It is less than static 
friction.

n	 Static friction: It is the friction 
that does not let an object move 
at rest.

78.	 Option (1) is correct.
Explanation: Let us assume that the 
refractive index of convex lens is n1 
and refractive index of liquid is n2.
As per the question,
		  n2	 > n1
Checking whether the focal length 
is positive or negative by using Lens 
Maker’s formula

⇒
		

1
f 	

= 
R R

( )n � �
�

�
�

�

�
�1

1 1

1 2

Here, 	 n	 = refractive index

			    
= 

n
n

1

2

As		  n2 > n1	 ⇒ n < 1
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Which means that the focal length of 
the lens is negative.
Therefore, it shows that the nature of 
lens will change to concave lens, that 
is, divergent lens as the focal length 
of concave lens is negative and focal 
length of convex lens is positive.

79.	 Option (2) is correct.
Explanation: 
l	 The vibration that travels through 

a medium (solid, liquid or gas) as 
a mechanical wave is known as 
sound.

l	 The speed of sound is highest in 
solids, relatively slow in liquids 
and slowest in gases.

l	 Intensity: It tells the rate at which 
energy is transferred by waves.

l	 Timbre: It is a characteristic of 
sound that differentiates between 
the sounds of same pitch and same 
loudness.

l	 Shrillness: It is also known as 
‘pitch’. It is also a characteristic 
of sound that is dependent on 
frequency.

l	 Amplitude: It refers to the 
maximum displacement of a wave 
from its mean position.

So, as per the definitions, option (2) 
is correct.

80.	 Option (1) is correct.
Explanation: 
l	 Refrigerator pipes are painted 

black in colour as helps in cooling 
and reflects the heat in the 
surroundings.

l	 Good absorbers of heat are also 
good radiators and black colour 
is a good example of it.

l	 Heat is well radiated by black 
components and black is good 
heat absorber.

81.	 Option (3) is correct.
Explanation: 
l	 Inquiry approach is a teaching 

method that treat students as 
a discoverer and allow them to 
discover things by themselves.

l	 In this method, problem has been 
given to students and it is expected 
that they find solutions by 
themselves through observation 
and experiments.

l	 In this case, the sequences using 
inquiry approach should be:
1.	 Observe the situation: 

Students can do this by placing 
a container with hot water 
inside the container containing 
cold water.

2.	 Conclusion of experiment: 
Students can do this by 
describing the relationship 
between temperature and heat.

3.	 Application of knowledge: 
Students can do this by infering 
the direction of heat in different 
objects.

82.	 Option (1) is correct.
Explanation: 
l	 Science is not something that can 

be learnt in a particular way. It 
involves experimenting, testing 
hypothesis, finding evidences, 
etc. It requires knowledge and 
creativity among the students.

l	 For nurturing creativity in science, 
a teacher can do the following 
things:
n	 Motivate students to frame 

answers in various ways
n	 Helps in developing divergent 

thinking abilities.
n	 Guide students in using 

multidisciplinary approach.
n	 Provide rich variety of learning 

experiences.
n	 Discussion in classrooms, etc.

83.	 Option (2) is correct.
Explanation: 
l	 Activity based learning refers to 

the process where students learn 
through hands-on experience.

l	 It heps students in gaining 
knowledge through observation 
and experimentation.

l	 It also encourages students 
to participate in classroom by 
sharing their ideas and discussing 
with other students.

l	 It also improves the knowledge 
of students as they are learning 
by seeing, listening and 
experimenting by themselves.

Therefore, option (2) is the right 
option.

84.	 Option (2) is correct.
Explanation: 
Problem solving refers to finding 
ways or methods to solve a particular 
problem or task.
Problem solving strategy has 3 stages:
1.	 Identify the problem—Initial 

state
2.	 Steps taken—Operation
3.	 Solution—Goal/aim state
Therefore, in this question, the first 
step will be to identify the wasteful 
practices.

85.	 Option (1) is correct.
Explanation: 
l	 Investigative activities helps 

students in understanding the 
nature of scientific inquiry. It 
helps students in understanding 
the relationship between different 
processes and facts.

l	 It also helps in enhancing the 
analytical skills of students

l	 Controlling variables means all 
the conditions are kept same 
except for the independent 
variable. Here, in statement A, we 
are doubling the amount of water. 
Here, if want to control, then the 
controlling variables could be the 
temperature, time, light, etc.

So, we are developing controlling 
variable skills here by controlling the 
amount of water.
l	 In statement B, wer are developing 

observation skills. Observation 
means use of various senses in 
order to gather information.

86.	 Option (4) is correct.
Explanation: Students learn by 
observing, experimenting, question-
ing in a classroom. They use different 
concepts of science and mathematics 
in their daily life.
In a classroom, a teacher should:
l	 Try to connect the topic of teaching 

with the previous knowledge of 
science students.

l	 Try to connect the different 
objects in the surroundings 
with the concepts of science, so 
that students can gain practical 
knowledge as well.

l	 Use different examples from our 
daily life to explain a particular 
concept of science.

l	 So, Assertion is false as a teacher 
should not teach each science 
concept assuming students know 
nothing, instead, teacher should 
try to connect that concept with 
daily life examples.

l	 Reasoning is also false as science is 
an abstract subject with proof that 
has clear interconnectedness with 
different scientific concepts.

87.	 Option (1) is correct.
Explanation: 
l	 Investigatory projects helps 

students by exploring science and 
their ideas in their environment 
(surroundings).

l	 It starts with the framing of 
questions according to the stud-
ent’s observation. These questions 
are then used by students for their 
projects.

l	 The next step is to do research. They 
have to identify the resources that 
they are going to use, the process 
that they are going to follow etc.

l	 The next step is to frame 
‘hypotheses’ which means finding 
possible answers based on their 
research. They also decide on the 
experiments that they are going to 
do.

l	 The next step is to observe 
and analyse the findings of the 
experiment. Based on it, the 
hypothesis can be right or wrong. 
If they are wrong, then they have 
to again reframe the hypothesis 
and have to test it.

l	 So, here, the project is helping 
students to reflect critically. 
Critical reflection refers to the 
activity where students challenge 
the correctness and validity of 
their assumptions within the 
present context.



Paper-2:  31st December, 2021 �  279
88.	 Option (3) is correct.

Explanation: 
l	 Here, the objective of teacher is to 

contextualise the topic.
l	 Contextual learning refers 

to the method of teaching 
where teachers provide some 
information to the students in 
such a way that students were 
able to derive meaning out of it 
based on their experiences.

l	 This helps students by enhancing 
their knowledge and learning by 
connecting the information with 
the real world. It also provides 
authenication.

l	 By providing real world examples 
will help making learning more 
realistic and relevant.

l	 Therefore, by giving the examples 
of cyclones, teacher is using 
contextual learning.

89.	 Option (3) is correct.
Explanation: We use science in 
our daily lives. Scientific temper 
is a method with which we look 
at the processes of assumptions, 
experimentation, explanation etc. in 
science.
The characterisitics of scientific 

temper use:
l	 Bias free: There is no place for bias.
l	 Scepticism: It means that you 

don’t accept other’s assertions 
unless they are logical and have 
some proof.

l	 Universal: These are universal.
l	 Objectivity: You observe the 

way things are and do not try 
to manipulate it. Therefore, 
observations have to be objective.

l	 Rational: The devisions taken 
should be rational.

l	 Open-mindness: It is very 
important. Willingness has to be 
there to change the conclusions 
based on humanity and valid proof.

l	 Preserverance: It means to have 
positive approach to the failure.

Therefore, based on these, option (3) 
is correct.

90.	 Option (1) is correct.
Explanation: 
l	 Science refers to the study of 

nature and its behaviour.
l	 Science is based on evidences.
l	 Science is a process and also a 

product.
l	 Science is a mix of both imagination 

and logic.
l	 Science is not all about experi-

mentation and is a social activity.

Language: English
91.	 Option (2) is correct.

Explanation: According to the 
passage, people emigrate mostly for 
economic betterment, indicating that 
the primary reason for migration is 
seeking better job opportunities and 

incomes. While cases of flight abroad 
caused by political persecution are 
mentioned separately. No where 
social injustice is causing immigration 
have mentioned therefore correct 
option will be option 2

92.	 Option (4) is correct.
Explanation: Referring to the lines 
from the passage, “Pundits predict 
that with the advance towards a 
globalized economy, this sort of 
migration will become unnecessary.”
Hence, it is apparent that with 
globalization, poor people will stop 
going to rich countries for economic 
betterment as they will get good 
opportunities to earn and a better 
life in their own countries.

93.	 Option (4) is correct.
Explanation: Referring to the lines 
from the passage, “The rewards of 
globalization have spread unevenly. 
Moreover, where they have spread, 
they have whetted the appetite for a 
better life so much that salaries from 
jobs in Bengaluru back offices or call 
centres of international companies 
may not be able to meet.”
Hence, it is apparent that the salaries 
earned are insufficient for the lifestyle 
people want, and they are demanding 
higher wages.

94.	 Option (4) is correct.
Explanation: Referring to the lines 
from the passage, “Illegal immigration 
cannot be stopped. It can only be 
checked.”

95.	 Option (1) is correct.
Explanation: In the passage, there is 
a mention of workers in Bengaluru 
demanding higher salaries. However, 
there is no mention or indication 
in the passage that suggests that 
western countries will be left without 
a trained workforce in the near future. 
Therefore, statement A is correct, but 
statement B is not supported by the 
given information. Therefore option 
1 is a correct option 

96.	 Option (3) is correct.
Explanation: “Yet” is a conjunction. 
It means “but” or “nevertheless”. It 
shows a contrast. 
The following lines indicate, “Yet, of 
this planet’s six billion people, more 
than one billion live on less than 
seventy -five rupees a day.”
A comparison and contrast are 
drawn, so “Yet” is a conjunction.

97.	 Option (2) is correct.
Explanation: In this sentence, 
"sending" is describing the noun 
"country," indicating that it refers to 
a country that is involved in sending 
people or immigrants. So it's depicting 
the quality of a country from where 
people migrate
An adjective describes a noun or noun 
phrase. It changes the information 
given by the noun.

Hence, the sending Country here is 
an adjective.

98.	 Option (2) is correct.
Explanation: “Whetted” means to 
excite or stimulate (someone’s desire, 
interest, or appetite).
Referring to the lines from the passage, 
“And where they have spread, they 
have whetted the appetite for a better 
life so much that salaries from jobs in 
Bengaluru back offices or call centres 
of international companies may not 
be able to meet.”
Hence, whetted here means an 
increase in the demand for salaries.

99.	 Option (1) is correct.
Explanation: Referring to the lines 
from the passage, “Here, India could 
learn a lesson from Sri Lanka which 
plays an active role in facilitating 
economic emigration.
The word “facilitating” means 
helpful, as facilitate means to make 
an action or process more accessible. 

100.	 Option (3) is correct.
Explanation: The passage mentioned 
above is from Lord Byron’s poem, 
“The Eve Of Waterloo.”
“The Eve of Waterloo” portrays the 
events that took place the night 
before the Battle of Quatre Bras, 
fought near Brussels, the capital of 
Belgium, which was a precursor to 
the Battle of Waterloo, fought two 
days later.
The lines, “Arm! Arm! It is _it is _the 
cannon’s opening roar!”
The poet has compared the sound of 
the cannon heard in the distance with 
that of the wind, the rattle of the car, 
echo of the clouds. 

101.	 Option (1) is correct.
Explanation: The phrase "On with 
the dance! Let joy be unconfined" 
indicates that the young men were 
dancing.

102.	 Option (2) is correct.
Explanation: The passage mentioned 
above is from Lord Byron’s poem, 
“The Eve of Waterloo.”
The Eve of Waterloo” portrays the 
events that took place the night before 
the Battle of Quatre Bras, fought near 
Brussels, the capital of Belgium, 
Lady Charlotte (The Duchess of 
Richmond) invited officers of the 
English and Prussian armies three 
nights before the Battle of Waterloo 
to a ball.
Hence, all the young men were 
dancing and rejoicing.
During this ball, a messenger arrived 
to inform about the surprise attack by 
the Napoleon-led French army. The 
Duke got them to their regiments 
without much noise to prevent panic 
among the officers and left for the 
field himself.
So, the two contrasting themes in the 
poem are “Dance” as all the young 
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men were enjoying the party and war 
which approached while they were 
partying. 

103.	 Option (2) is correct.
Explanation: The poet highlights the 
power of the sound by using three 
comparative adjectives ‘nearer’, 
‘clearer’, and ‘deadlier’. When the 
heavy sound resonates one more 
time, it feels like the cloud roars and 
its echo repeats.
All the men recognized the sound as 
the enemy cannon’s opening roar and 
were called upon to arm themselves.

104.	 Option (1) is correct.
Explanation: Onomatopoeia literary 
technique is when the sound of a word 
(phonetically) imitates, resembles or 
suggests the sound that it describes.
The sound rattles in the line “the 
car rattling over the stony street” 
because the car runs on a street made 
of stones.

105.	 Option (2) is correct.
Explanation: In this line, the words 
"nearer," "clearer," and "deadlier" are 
used to describe the sound. This use 
of descriptive words to create a vivid 
image or comparison without using 
"like" or "as" indicates a metaphor. 
The sound of the cannon is being 
compared to something that is 
approaching closer, becoming clearer, 
and becoming deadlier.

106.	 Option (1) is correct.
Explanation: Connotation refers to 
a word or thing symbolically rather 
than being explicitly named or 
described, which includes the ideas 
and feelings that need not be a part 
of the word’s meaning. Connotation 
is based on implication, suggestion, 
or shared emotion with a comment.
Like a lady symbolizes a person who 
is refined, polite, and well-spoken.

107.	 Option (4) is correct.
Explanation: The direct teaching 
method implies presenting a video 
or film to students even though the 
teacher is not actively instructing 
students but has selected it for them.
The primary objective of the direct 
Method was to teach L2 learners how 
to use language for communication 
purposes.
The Direct Method aims at establish-
ing the direct bond between thought 
and expressions and between expe-
rience and language so that the learner 
experiences the new language as they 
has experienced his mother tongue.

108.	 Option (1) is correct.
Explanation: Based on the given 
information, it is stated that Rohit 
Irfan has opted to study Spanish, 
indicating that he is actively learning 
the language. On the other hand, it 
is mentioned that he has been able 
to use Kannada, the language of 
the place (Bangalore), effectively for 

different purposes. This suggests that 
he is acquiring Kannada through his 
immersion and interaction in the 
local environment.

109.	 Option (1) is correct.
Explanation: In the given scenario, 
the teacher has provided a real-life 
situation where the students need 
to interact and use language skills to 
order food based on specific condi-
tions. This activity requires the 
students to engage in communication, 
decision-making, and problem-
solving, which are key elements of a 
task in language teaching.

110.	 Option (1) is correct.
Explanation: Dialects are social or 
regional variations of a language 
distinguished by grammar, pronun-
ciation, and vocabulary. 
When people settle in different 
geographical locations, they tend 
to create their cultural codes in lan-
guage, adapt them to their needs, and 
naturally mimic each other’s speech.
Having or not having a script is not 
the criteria for considering language 
as a dialect.
Every sign language has a compre-
hensive vocabulary and its own 
grammatical rules. These grammatical 
rules are different from that of spoken 
languages.
All languages spoken by human 
beings follow rules of grammar. No 
matter the language, whether written 
or vocal.
Also, a country’s spoken tongue does 
not dictate what signed language is 
used by the Deaf in that particular 
Country.

111.	 Option (4) is correct.
Explanation: Post-reading activities 
help students to locate and record 
relevant information.
Post-reading strategies help readers 
summarize, reflect, and question 
what they have just read. 
So, using the jumbled words to create 
a subtext after reading a text is a post-
reading activity. 

112.	 Option (3) is correct.
Explanation: Syntactic cues involve 
word order, rules and patterns of 
language (grammar), and punctua-
tion. For example, a word’s position 
in a sentence will cue the listener or 
reader whether the word is a noun 
or a verb.
For example, semantic cues for the 
word “knife” may be that it is an 
eating utensil used to cut food, made 
of metal and sharp on one side, and 
so on.

113.	 Option (2) is correct.
Explanation: Composition dictation 
is a learning strategy where the 
teacher comes up with a text and 
tests the students to listen and rewrite 

what they have heard with their own 
words.
The rules of the composition dictation:
1.	 Listen to the dictated sentence 

with accuracy.
2.	 Chunk the sentence into smaller 

parts in the head.
3.	 Retain the complete sentence in 

short-term memory until writing 
it.

4.	 Write it down quickly with correct 
spelling.

5.	 Use proper capitalization and 
punctuation.

6.	 Proofread the sentence again.
114.	 Option (2) is correct.

Explanation: Poetry is a form of 
expression which enhance our 
feelings and thoughts and encourages 
us to connect and find meaning in our 
experiences. 
One can write poems to sound 
beautiful, tell a story, or share a 
message. They engross us with their 
beauty, rhyming and presentation. 
They create a sense of delight and 
enjoyment.

115.	 Option (2) is correct.
Explanation: Portfolio assessment 
involves collecting and recording a 
variety of evidence or artifacts that 
demonstrate a learner's progress and 
achievements over time. These artifacts 
can include samples of student work, 
projects, reflections, assessments, and 
other relevant materials. The portfolio 
serves as a comprehensive record of 
the learner's growth and learning 
throughout a specific period.

116.	 Option (1) is correct.
Explanation: Basic Interpersonal 
Communication Skills (BICS) are 
linguistic skills required in everyday 
life for social interactions like the 
language we use in the playground, 
on the phone, or socially interacting 
with others. 

117.	 Option (4) is correct.
Explanation: Comprehensible input 
is language input understood by 
listeners, even though they may need 
help understanding all the words and 
structures within it. 
It helps students of any proficiency 
level: from beginner to advanced 
students. However, it must be 
presented in the form of meaning-
ful language that students can under-
stand with the help of embedded 
context, even though they do not fully 
understand each word’s meaning.

118.	 Option (2) is correct.
Explanation: Various types of 
Teaching-Learning Materials:
Visuals Aids: 
Blackboard, Posters, Flashcards, 
Presentations, Printed textbooks, 
Graphs and Infographics.
Audio Aids:
Radio, Tape-recorder and CDs.
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All the Audio-visual aids: such as 
videos, video recordings, Films and 
Documentaries, and Virtual Class-
rooms Language Laboratory.
Thus, computer programming 
cannot be considered a material for 
language teaching-learning—instead 
it provides a set computer of instruc-
tions to facilitate specific actions.

119.	 Option (1) is correct.
Explanation: Multilingual education 
is an integral part of the Indian learn-
ing system, and the three-language 
formula says that an individual 
completing  higher education should 
be at least trilingual. 
Multilingualism in school education 
advocates for understanding the 
Country’s multilingual characteristics 
and is used as a resource in teaching 
languages and content subjects. 
Additionally, it helps in recognizing 
the diverse aspects of the Country.
Multilingualism promotes analytical, 
social, and academic skills more than 
their monolingual peers, apart from 
superior reading and writing skills. 

120.	 Option (2) is correct.
Explanation: Sign language uses 
body language and facial expressions 
in place of sound to convey meaning, 
combining hand gestures, hand 
orientation and movements, arms or 
body, and expressions of the face to 
express a speaker’s thoughts.

Language: Hindi
121.	 fodYi (3) mfpr gSA

O;k[;kµ;g lc gksrs gq, Hkh vFkkZr~ lafoèkku 
vkSj ijEijk esa L=h&iq#"k dks leku ekus tkus 
ij Hkh gekjk lekt iq#"k dks Js"B vkSj ukjh 
dks ghu ekurk gSA
Hkkjrh; lafoèkku
n	 L=h&iq#"k dks leku le>k x;k gSA
n	 mu lHkh izFkkvksa ds R;kx dh ckr dgh 

x;h gS ftuls ukjh ds vkRe&lEeku ij 
vk¡p vkrh gksA

n	 ikfjokfjd] lkekftd vkSj jk"Vªh; lajpuk 
uj&ukjh nksuksa ds ijLij lg;ksx ij fuHkZj 
gksrh gSA

122.	 fodYi (2) mfpr gSA
O;k[;kµmTtoy dk vFkZ LoPN gksrk gSA 
blesa O;atu lafèk gSA
O;atu lfUèkµO;atu ;k Loj ds esy ls tks 
fodkj (ifjorZu) mRiUu gksrk gS mls O;atu 
lafèk dgrs gSa vFkkZr~ 'kCnksa ;k 'kCnka'kks ds feyus 
ls u;k 'kCn curk gSA mnkgj.k ds fy,µ
n	 fnd~ + vEcj = fnxEcj
n	 txr + bZ'k = txnh'k
blfy, ;gk¡ mTtoy dk lafèk&foPNsn mr~ 
+ Toy gksxkA

123.	 fodYi (4) mfpr gSA
O;k[;kµoSfnddkyhu lekt ds lUnHkZ esa 
nks dFku lgh gSaA

n	 lekt esa ukjh dk LFkku cgqr Å¡pk FkkA
n	 efgyk,¡ ;q¼ esa Hkkx ys ldrh FkhaA
vU; egRoiw.kZ fcUnq (oSfnddkyhu)
n	 insZ dh çFkk u FkhA
n	 L=h 'kL=kFkks± esa [kqydj Hkkx ysrh FkhaA
n	 vusd fL=;k¡ ½f"k&in ij çfrf"Br FkhaA
n	 fL=;k¡ èkkfeZd vkSj lkekftd dk;ks± esa gkFk 

c¡Vkrh FkhaA
n	 fookg ds ekeys esa mUgsa LorU=rk çkIr FkhaA

124.	 fodYi (4) mfpr gSA
O;k[;kµ^loZekU; rF;* lkekftd lajpuk 
L=h&iq#"k dh lgHkkfxrk ij fuHkZj djrk gSA
gekjs lafoèkku esa L=h&iq#"k nksuksa dks gj n`f"V 
ls leku le>k x;k gS] lkFk gh mu lHkh 
izFkkvksa ds R;kx dh ckr dgh x;h gS ftuls 
ukjh ds vkRe&lEeku ij vk¡p vkrh gksaA
loZekU; rF;
n	 ikfjokfjd] lkekftd vkSj jk"Vªh; lajpuk 

uj&ukjh ds lg;ksx ij fuHkZjA
n	 ikfjokfjd O;oLFkk dk iwjk nkf;Ro ukjh 

ijA
n	 ekuo lekt dh jpuk esa nksuksa dk lg;ksxA

125.	 fodYi (2) mfpr gSA
O;k[;kµvuqPNsn ds vuqlkj oSfnd dky esa 
;K esa ifr&iRuh ds lkFk cSBus dh izFkk FkhA
oSfndkyhu lekt dh fo'ks"krk,¡
n	 lekt esa ukjh dk LFkku cgqr Å¡pk FkkA
n	 efgyk,¡ ;q¼ esa Hkkx ysrha FkhaA
n	 insZ dh izFkk u FkhA
n	 vusd fL=;k¡ ½f"k&in ij izfrf"Br FkhaA
n	 fL=;k¡ èkkfeZd vkSj lkekftd dk;ks± esa gkFk 

c¡Vkrh FkhaA
n	 fookg ds ekeys esa mUgsa LorU=rk izkIr FkhA

126.	 fodYi (3) mfpr gSA
O;k[;kµçlaxkuqlkj dkykarj dk vFkZ gS 
^le; cnyus ij*A dkykarj vFkkZr~ dky dk 
vUrjky ;k fQj nwljs 'kCnksa esa dg ldrs gSa 
fd mfYyf[kr le; ds ckn dk le;A

127.	 fodYi (4) mfpr gSA
O;k[;kµ lekl jpuk dh n`f"V ls lrh&çFkk 
lekl ij jks"k ls fHkUu gS D;ksafd ;g ,d 
'kCn gS tcfd vU; 'kCn fHkUu&fHkUu vFkZ 
izdV djrs gSaA
leklµlekl 'kCn&jpuk dh ,slh izfØ;k 
gS ftlesa vFkZ dh n`f"V ls ijLij fHkUu rFkk 
Lora= vFkZ j[kus okys nks ;k nks ls vfèkd 
'kCn feydj fdlh vU; Lora= 'kCn dh jpuk 
djrs gSaA mnkgj.k ds fy,µ
n	 L=h&iq#"k
n	 uj&ukjh
n	 dke&dkt
rhuksa esa gh }U} lekl gSA

128.	 fodYi (3) mfpr gSA
O;k[;kµ^oSfnd dky esa ifjokj esa L=h dks 
cgqr lEeku izkIr FkkA* blds leFkZu esa ^tgk¡ 
ukjh dh iwtk gksrh gS ogk¡ nsork fuokl djrs 
gSaA* ;g rdZ vuqi;qDr gSA vU; rdZ mfpr gSaA

oSfnddkyhu lekt dh fo'ks"krk,¡
n	 lekt esa ukjh dk LFkku cgqr Å¡pk FkkA
n	 efgyk,¡ ;q¼ esa Hkkx ysrh FkhaA
n	 vusd fL=;k¡ ½f"k&in ij izfrf"Br FkhaA
n	 fL=;k¡ èkkfeZd vkSj lkekftd dk;ks± esa gkFk 

c¡Vkrh FkhaA
n	 fookg ds ekeys esa mUgsa LorU=rk izkIr FkhA
tcfd euqLe`fr esa fy[kk gS fd tgk¡ ukjh 
dh iwtk gksrh gS ogk¡ nsork fuokl djrs gSaA

129.	 fodYi (2) mfpr gSA
O;k[;kµjk"Vªh; vfLerk dh igpku ds 
lUnHkZ esa nks dFku mi;qDr gSµ
n	 jk"Vª dk viuk Lo:i izfrf"Br gksrk gSA
n	 ns'k ds izfr fu"Bk vkSj leiZ.k dk Hkko 

mRiUu gksrk gSA
vfLerk dk vFkZµigpku
jk"Vªh; vfLerk dk vFkZµmu y{k.kksa vkSj 
fo'ks"krkvksa dh igpku] ftuls jk"Vª dk viuk 
Lo:i curk gSA
jk"Vªh; vfLerk ds y{k.k
n	 ,d Lora=] izHkqRo lEiUu jk"Vª ds :i esa 

izfrf"Br gksukA
n	 eu esa jk"Vª ds izfr viuRo] izse] fu"Bk 

dh HkkoukA
n	 èkeZ] tkfr] Hkk"kk] {ks= ls ijs gksdj jk"Vªh; 

fodkl ds fy, iz;Ru'khy gksukA
130.	 fodYi (4) mfpr gSA

O;k[;kµO;kdjf.kd dksfV dh n`f"V ls 
lewg ls fHkUu 'kCn fofoèkrk gSA fofoèkrk dk 
vFkZ fofoèk gksus ds Hkko ls gS] blfy, blesa 
Hkkookpd laKk fo|eku gSA tcfd vU; 
jk"Vªh;] jsfxLrkuh] lkaLÏfrd rhuksa fo'ks"k.k gSaA
Hkkookpd laKk
fdlh Hkko] xq.k] n'kk ;k voLFkk dk cksèk 
djokus okys laKk 'kCnksa dks Hkkookpd laKk 
dgrs gSaA

131.	 fodYi (1) mfpr gSA
O;k[;kµ^bu fofoèkrkvksa ds jgrs gq, Hkh 
Hkkjr ,d HkkSxksfyd bdkbZ jgk gS*] bu 
fofoèkrkvksa esa ioZrksa vkSj ufn;ksa dks lfEefyr 
ugha fd;k x;k gSA
tyok;q dh fofoèkrk] vkthfodk ds lkèkuksa 
dh fofoèkrk vkSj jgu&lgu dh fofoèkrkA 
fdUrq bu fofoèkrkvksa ds jgrs gq, Hkh Hkkjr 
,d HkkSxksfyd bdkbZ jgk gSA ;gk¡ rd fd 
le;&le; ij vusd jktuhfrd lÙkkvksa esa 
foHkDr jgus ij Hkh èkkfeZd vkSj lkaLÏfrd 
fopkjksa] laLdkjksa vkSj vkLFkkvksa us bls ,d 
lw= esa ck¡èks j[kk gSA

132.	 fodYi (3) mfpr gSA
O;k[;kµHkkjr dks ,d miegk}hi dgk tkrk 
gS D;ksafd ;g HkkSxksfyd fofoèkrkvksa okyk 
fo'kky ns'k gSA
ns'k esa HkkSxksfyd fofoèkrk
n	 nqxZe mPp f'k[kj okys ioZrh; {ks=
n	 iBkjh Hkkx] eSnkuh Hkkx] jsfxLrkuh Hkkx
n	 tyok;q dh fofoèkrk
n	 vkthfodk ds lkèkuksa dh fofoèkrk
n	 jgu&lgu dh fofoèkrk
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133.	 fodYi (1) mfpr gSA

O;k[;kµ^HkkSxksfyd bdkbZ* esa nksuksa 'kCn 
Øe'k% fo'ks"k.k fo'ks"; gSaA
fo'ks"k.kµlaKk vFkok loZuke 'kCnksa 
dh fo'ks"krk (xq.k] nks"k] la[;k] ifj.kke] 
vkfn) crkus okys 'kCn gh fo'ks"k.k gksrs gSa_ 
tSlsµyEck] xksjk] dkyk] bR;kfnA
fo'ks";µfo'ks"k.k 'kCn ftldh fo'ks"krk 
crk,] mls fo'ks"; dgrs gSaA mnkgj.k ds 
fy,µ
n	 jke lqUnj gSA
blesa lqUnj fo'ks"k.k vkSj jke fo'ks"; gSA

134.	 fodYi (1) mfpr gSA
O;k[;kµ^ge leLr Hkkjroklh ,d gSa*] jpuk 
dh n`f"V ls ;g ,d ljy okD; gSA
ljy okD;
n	 ,slk okD; ftlesa fØ;k ,oa dÙkkZ gksrk gSA
n	 okD; esa ,d gh mís';] ,d gh foèks; gksrk 

gSA
n	 bls lkèkkj.k okD; Hkh dgrs gSaA

135.	 fodYi (2) mfpr gSA
O;k[;kµgekjs 'kkL=ksa vkSj egkdkO;ksa esa Hkkjr 
dks ,d HkkSxksfyd bdkbZ dgk x;k gSA d'ehj 
ls dU;kdqekjh dkSj dPN ls v#.kkpy rd 
Hkkjr dks HkkSxksfyd bdkbZ ds :i esa of.kZr 
fd;k x;k gSA mÙkj ds fgeky;] iwoZ] nf{k.k 
vkSj if'pe ds lkxjksa us bls ,d HkkSxksfyd 
bdkbZ ds :i esa lhekafdr fd, j[kk gSA
HkkSxksfyd fofoèkrk (Hkkjr)
n	 tyok;q dh fofoèkrk
n	 vkthfodk ds lkèkuksa dh fofoèkrk
n	 jgu&lgu dh fofoèkrk

136.	 fodYi (2) mfpr gSA
O;k[;kµ,d cgqHkkf"kd d{kk esa f'k{kd dks 
lalkèku lkexzh dk fuekZ.k] p;u djrs le; 
Hkkf"kd fofoèkrk ij lcls vfèkd è;ku nsuk 
pkfg,A
cgqHkk"kkokn@cgqHkkf"krkµcgqHkkf"krk ls 
rkRi;Z ,d ls vfèkd Hkk"kkvksa ds iz;ksx ls 
gSA ;g fofHkUu Lrj ij gks ldrh gSA blds 
vUrxZr og O;fDr vkrs gSa tks cgqHkkf"kd gSa] 
tks ,d ls vfèkd Hkk"kkvksa dks lqudj le>us] 
cksyus] i<+us ;k fy[kus esa fdlh Hkh Lrj ij 
viuh n{krk j[krs gSaA
ykHk
n	 lkekftd ,oa vkfFkZd fodkl
n	 ckSf¼d ,oa HkkokRed fodkl
n	 O;ogkjxr fodkl
mPp çkFkfed Lrj ij fganh Hkk"kk f'k{k.k dk 
egRoiw.kZ mís'; cPpksa dks fganh Hkk"kk ds fofoèk 
Lo:iksa dh tkudkjh nsuk gSA
fganh Hkk"kk f'k{k.k dk mís'; fofoèk lkfgfR;d 
foèkkvksa ls cPpksa dks ifjfpr djk ds mUgsa vius 
vuqHkoksa ds vkèkkj ij fofHkUu lanHkks± esa Hkk"kk 
ç;ksx esa lQy cukA
mPp çkFkfed Lrj ij Hkk"kk lh[kus esa 
ikBî&iqLrd ds vfrfjä vk;q vuq:i lkfgR; 
lokZfèkd egRoiw.kZ lalkèku lkexzh gSA lkfgR; 
dykRed dk;ks± dk ,d lewg gS tks fd ;k=k 

o`Ùkkar] ,dkadh ukVd] dfork] ukVd vkSj 
miU;kl] vkfn ds :i esa gksrk gSA

137.	 fodYi (2) mfpr gSA
O;k[;kµcgqHkkf"kdrk ls fuf'pr O;ogkjxr 
ykHk gksrs gSaA ;g Hkkjr dh laLÏfr dk ,d 
vfHkUu vax gS D;ksafd Hkkjr esa vusd Hkk"kk 
cksyus okys yksx fuokl djrs gSaA
cgqHkkf"krk
n	 vfèkd Hkk"kkvksa dk iz;ksx
n	 cgqHkkf"krk ds fofHkUu Lrj
ykHk
n	 lkekftd ,oa vkfFkZd fodkl
n	 O;ogkjxr fodkl
n	 ckSf¼d ,oa HkkokRed fodkl
blesa lcls fuf'pr vkSj egRoiw.kZ fodkl 
O;ogkjxr gksrk gSA
cgqHkkf"kdrk ds dbZ ykHknk;d igyq Hkh gS 
bu igyqvksa esa ckSf¼d fodkl] O;ogkjxr] 
dYiuk'khyrk dk fodkl] l`tukRed fparu 
vkSj laçs"k.kkRed laosnu'khyrk ds lUnHkZ esa 
ns[kk tk ldrk gSA

138.	 fodYi (3) mfpr gSA
O;k[;kµlksís';iw.kZ ys[ku dk mnkgj.k 
^lqys[k dk dk;Z dhft,* ugha gSA
lksís';iw.kZ vFkkZr~ mís'; ds lkFk fd;k x;k 
dk;ZA ukSdjh ds fy, vkosnu i= fyf[k,] 
eapu ds lkeku dh lwph cukb,] lkbfdy pksjh 
gks tkus dh lwpuk fyf[k, rhuksa gh lksís';iw.kZ 
ys[ku ds mnkgj.k gSaA
ys[ku dkS'kyµHkkoksa ,oa fopkjks dh 
vfHkO;fDr tc fyf[kr :i esa gksrh gS mls 
ys[ku dkS'ky dgrs gSaA
i= ys[ku&i= ys[ku ,d dyk gS ftlds  
}kjk ge vius Hkkoukvks dks nwljs rd igqapkrs 
gS vFkkZr ̂ ,slk dkxt ftl ij dksbZ ckr fy[kh 
vFkok Nih gks*A i= ds }kjk O;fä viuh ckrksa 
dks nwljksa rd fy[kdj igq¡pkrk gSaA ge i= 
dks vfHkO;fä dk ,d l'kä ekè;e Hkh dg 
ldrs gSaA i= ys[ku ds eq[;r% 2 çdkj gksrs 
gSa ^vkSipkfjd i= rFkk vukSipkfjd i=*A

139.	 fodYi (4) mfpr gSA
O;k[;kµfgUnh Hkk"kk vkadyu dh n`f"V ls 
^fdlh ,slh ?kVuk dk o.kZu dhft, tc jDr 
dh deh gks x;h gks* iz'u lcls csgrj gSA
eq[; fcUnq
n	 l`tukRedrk dks c<+kok nsukA
n	 ubZ fn'kk esa lkspus ds fy, izsfjr djukA
n	 ekSfyd fopkjksa dk lekos'kA
Hkk"kk vkdyu ,d laoknkRed rFkk 
jpukRed çfØ;k ekuk tkrk gS] ftlds  
}kjk f'k{kd fo|kFkhZ dk mfpr Hkk"kk vfèkxe 
dh tkap djrk gSA Hkk"kk vkdyu dh fLFkfr 
esa cPpksa dks ,slh xfrfofèk;ksa esa fyIr gksus dk 
ekSdk nsuk pkfg, ftlls fd muds fopkjksa esa 
ekSfydrk dk lekos'k gks ldsA

140.	 fodYi (4) mfpr gSA
O;k[;kµikB esa vk, O;kogkfjd 'kkjhfjd 
'kCnksa esa ^bd* izR;; dk iz;ksx gqvk gSA ßvki 
Hkh ̂ bd* izR;; ls rhu 'kCn cukb,AÞ ;g iz'u 
lUnHkZ esa O;kdj.k dk mnkgj.k gSA
n	 lUnHkZ dk vFkZµfdlh fo"k; ds ckjs esaA
n	 O;kdj.k dk vFkZµfdlh Hkk"kk ds cksyus 

vFkok fy[kus ds fu;eksa dh fo'ks"k i¼frA
lUnHkZ esa O;kdj.k
n	 fu;eksa dh fo'ks"k i¼fr
n	 O;kdj.k dks (milxZ] izR;;] laKk] 

bR;kfn) dks le>us ds lgk;d
O;kdj.k fdlh Hkk"kk ds cksyus rFkk fy[kus 
ds fu;eksa dh O;ofLFkr i¼fr gS vFkkZr~	
 O;kdj.k Hkk"kk dks O;ofLFkr djus dk dk;Z 
djrh gSA O;kdj.k Hkk"kk dks fLFkj j[krh gSA 
;g Hkk"kk ds Lo:i dh lkFkZd O;oLFkk djrk 
gSA ;g Hkk"kk dk 'kjhj foKku gS rFkk O;ogkfjd 
fo'ys"k.k djrk gSA ^lanHkZ esa O;kdj.k* dk 
'kSf{kd fufgrkFkZ gS fd O;kdj.k dks ikB ds 
lanHkZ esa fl[kk;k tkrk gSA

141.	 fodYi (3) mfpr gSA
O;k[;kµVh-oh- ij èkkjkokfgd ns[kuk 
lkekftd vUr% fØ;k dk mnkgj.k ugha gS 
D;ksafd Vh-oh- ge ?kj esa ns[krs gSaA euq"; 
,d lkekftd izk.kh gS blfy, ;g lkekftd 
lnL;ksa ds lkFk vUr% fØ;k djrk gSA
vUr% fØ;k vFkkZr~ okrkZyki] lkekftd lEidZ 
;k lEcUèkA tc O;fDr lekt esa jgdj lekt 
ds yksxksa ds lkFk lEidZ LFkkfir djrk gS rks 
og lkekftd vUr% fØ;k dgykrh gSA
lkekftd vUr% fØ;k ds mnkgj.k
n	 nqdkunkj ls leku [kjhnuk
n	 Qy&lCtÛh cspuk
n	 iM+ksl ds rkÅth ls ckrphr djuk
tks lkekftd çfØ;k ls vyx igpku j[krh gS] 
ewrZ] okLrfod rFkk okrkZyki] lkekftd laidZ 
vkilh lacaèkksa ij vkèkkfjr gksrh gSA vkilh 
çHkkoksa dh ,d ç.kkyh esa ,d lkFk caèks gq, 
,d lkekftd lnL;ksa ds ijLij var%fØ;k 
lkekftd var%fØ;k dgykrh gSaA Hkk"kk ds }
kjk gh mlds lHkh lkekftd fØ;kdyki vkSj 
euq"; ds lkekftd çk.kh gksus dk vkèkkj Hkk"kk 
gh gS fopkjksa] Hkkoksa] bPNkvks rFkk vkdka{kkvks 
dks çdV fd;k tkrk gS rFkk nqljks }kjk O;ä 
Hkkoksa] fopkjksa vkSj fopkjksa }kjk bPNkvksa dks 
xzg.k fd;k tkrk gSA bl çdkj oäk vkSj 
Jksrk ds chp ijLij laçs"k.k ds ekè;e ls 
vFkok fØ;k çfrfØ;k ds ekè;e ls ekuoh; 
fopkj&fofue; pyrs jgrs gSA

142.	 fodYi (2) mfpr gSA
O;k[;kµvaxzsth ekè;e ds Ldwyksa esa vaxzsth 
ds opZLo dks de djus ds fy, vU; Hkkjrh; 
Hkk"kkvksa ds ewY;oèkZu dh tÛ:jr gSA
f=Hkk"kk lw=
n	 rhu Hkk"kk,¡ fgUnh] vaxzsth vkSj lEcfUèkr 

jkT;ksa dh {ks=h; Hkk"kkA
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n	 jk"Vªh; f'k{kk uhfr 1968 esa ,d 
vkfèkdkfjd nLrkostÛ ds :i esa oxhZÏrA

n	 igyh Hkk"kkµekr`Hkk"kk ;k {ks=h; Hkk"kk
n	 nwljh Hkk"kkµvaxzsth ;k vkèkqfud Hkkjrh; 

Hkk"kk
n	 rhljh Hkk"kkµfgUnh ;k dksbZ vU; vkèkqfud 

Hkkjrh; Hkk"kk
vaxzsth ekè;e ds Ldwyksa esa vaxzsth ds opZLo 
dks de djus ds fy, vU; Hkkjrh; Hkk"kkvks 
ds ewY;oèkZu dh t:jr gS] rFkk blds fy, 
f=Hkk"kk lw= dh uhfr viuk;h tkuh pkfg,µ
f=&Hkk"kk lw= Hkkjr esa Hkk"kkbZ fLFkfr dh 
pqukSfr;ksa vkSj voljksa dk lekèkku djus dk 
,d ç;kl gSA ;g ,d j.kuhfr gS tks 3 Hkk"kkvksa 
fganh] vaxzsth vkSj ,d {ks=h; Hkk"kk dks lh[kus 
ds fy, ,d çkjafHkd vkèkkj ds :i esa dk;Z 
djrh gSA bls 1968 esa vfèkfu;fer fd;k 
x;k FkkA

143.	 fodYi (2) mfpr gSA
O;k[;kµfo|ky;ksa esa Hkk"kk nks :iksa esa ekStwn 
gSA ,d fo"k; ds :i esa vkSj nwljk ekè;e 
ds :i esaA
n	 fo"k; ds :i esa Hkk"kkµfgUnh ;k vaxzsth 

fo"k; ds :i esa gks ldrh gSA
n	 ekè;e ds :i esa Hkk"kkµvU; fo"k;ksa dks 

le>us esa lgk;d gksrh gS Hkk"kk] blfy, 
Hkk"kk ekè;e ds :i esa Hkh ekStwn gSA 
mnkgj.k ds fy,µ
l	 voèkkj.kkvksa dks lh[kuk
l	 'kCnkoyh dks lh[kuk
l	 rkfdZd foe'kZ djus esa lgk;d

dyk ls rkRi;Z js[kk vkÏfr] jax] rky rFkk 
'kCn] tSlsµjs[kkfp=] jatudyk] ewfrZdyk] 
u`R;] laxhr] dfork ,oa lkfgR; ds :i esa 
ekuo dh ço`fÙk;ksa dk ckgjh vfHkO;fä gSaA
vfHkO;fäµeuq"; vius euksHkkoksa dks çdkf'kr 
djrk gS rFkk viuh Hkkoukvksa dks :i nsrk gS
vkdyu : ikBîØe ls lacafèkr fo|kFkhZ dh 
çxfr ,oa miyfCèk;ksa dh tkudkjh ,df=r 
djus] o.kZu ,oa fo'ys"k.k djus dh lqfu;ksftr 
,oa fujarj çfØ;kA

144.	 fodYi (2) mfpr gSA
O;k[;kµd{kk vkB esa cPpksa ds 
iBuµvocksèku dks fodflr djus dk 
loksZRÏ"V mnkgj.k gSµvuqPNsn i<+dj iz'u 
cukukA
eq[; fcUnq
n	 ;g utÛnhdh ijh{k.k gSA
n	 O;kdj.k {kerk ,oa 'kCn HkaMkj dk vkadyu 

esa lgk;d gSA
n	 ikBd iBu lkexzh ds vfrfjDr vU; lzksrksa 

ls tkudkjh dk Hkh mi;ksx dj ldrk gSA
bl ijh{k.k ds }kjk cPpksa ds iBu vocksèku 
{kerk dk fodkl gksrk gSA
;g mPp çkFkfed Lrj ds cPpksa ds fy, 
lgk;d gSA

145.	 fodYi (3) mfpr gSA
O;k[;kµO;kdj.k&f'k{k.k dh vkxeu fofèk 
mnkgj.k ij cy nsrh gSA
vkxeu fofèk
n	 f'k{k.k vfèkxe dh loksZÙke fofèk gSA
n	 u, Kku dks [kkstus ds volj iznku djrh 

gSA
vkxeu fofèk ds xq.k
n	 euksoSKkfud fofèkA
n	 mnkgj.kksa ls fu;e dh vksjA
n	 cPpksa ls lkekU; fu;e fudyok, tkrs 

gSa ftlls muesa jpukRedrk] vkRefo'okl 
xq.kksa dk fodkl gksA

vkxeu fofèk& ;g ,d euksoSKkfud fofèk 
gS ftlesa fof'k"V vuqHkoksa vkSj mnkgj.kksa ds 
ekè;e ls lkekU; fu;eksa dk fuekZ.k fd;k tkrk 
gSA blds }kjk cPps ljy laçR;;ks ds lgk;rk 
ls uohu Kku dk lapkj djrs gSaA

146.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk lh[kus&fl[kkus dh izfØ;k dk 
vfHkUu vax vkadyu gSA funkukRed ijh{k.k 
}kjk f'k{k.k lEcUèkh dfe;ksa dk voyksdu 
fd;k tkrk gS vkSj mipkjkRed f'k{k.k 
}kjk f'k{k.k lEcUèkh dfe;ksa dks nwj djus dk 
iz;kl fd;k tkrk gSA
vkadyuµlwpukvksa dks ,df=r djus dh 
izfØ;kA
vkadyu dh vko';drk
n	 f'k{kdksa dh dq'kyrk ,oa lQyrk dk irk 

yxkus gsrq
n	 ckydksa dh ;ksX;rk] dq'kyrk vkSj {kerk 

dk irk yxkus gsrq
lrr ,oe~ O;kid vkdyu dks lhch,lbZ }
kjk 2009 esa f'k{kk ds vfèkdkj vfèkfu;e ds 
rgr vkdyu dh ,d Ldwy vkèkkfjr ç.kkyh 
ds :i esa is'k fd;k x;k gSA ;g cPps ds 
lok±xh.k fodkl vFkkZr fodkl ds ^'kSf{kd 
vkSj lg&'kSf{kd* nksuksa igyqvksa ls lacafèkr gSA

147.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk dkS'kyksa ds fodkl dh n`f"V ls 
futh dgkuh dk eapu djuk lokZfèkd mi;qDr 
xfrfofèk gSA
eq[; fcUnq
n	 ckSf¼d fodkl esa lgk;d
n	 ekSf[kd vfHkO;fDr esa lgk;d
n	 dYiuk 'kfDr vkSj l`tukRedrk esa lgk;d
n	 O;ogkj dq'ky cukus esa lgk;d
Nk=ksa dh dYiuk] rdZ 'kfä rFkk vfHkO;fä 
{kerk dk fodkl gksrk gSA
ckyd dks thou dh fofHkUu ifjfLFkfr;ksa dk 
Kku gksrk gSA

148.	 fodYi (3) mfpr gSA
O;k[;kµcPpksa dh l`tukRed fyf[kr 
vfHkO;fDr ds fodkl esa lokZfèkd lgk;d 
foKkiu] iksLVj cukuk gSA
l`tukRedrk

n	 ekSfydrk
n	 uohurk
n	 efLr"d m}syu dh izfØ;k ftlesa ,d 

fo"k; ij vusd izdkj ds fopkj mRiUu 
gksrs gSaA

fyf[kr vfHkO;fDr ds lkèku
n	 i= ys[ku
n	 fucUèk ys[ku
n	 ukV~; ys[ku
fyf[kr vfHkO;fDr vFkkZr~ fy[kus dh Lora=rk
fy[kuk vFkkZr ys[ku dkS'ky pkjksa Hkk"kk dkS'kyksa 
esa lcls vafre pj.k gSA cPpksa esa ys[ku dkS'ky 
dk fodkl ekSfyd fopkjksa dks fyf[kr :i 
nsus rFkk fofHkUu mís';ksa ds fy, fy[kus dh 
{kerk dks lanfHkZr djrk gSA fyf[kr Hkk"kk dk 
ç;ksx viuh Hkk"kk dks vfHkO;ä djus ds fy, 
fd;k tkrk gSA

149.	 fodYi (3) mfpr gSA
O;k[;kµi<+us dh izfØ;k esa lokZfèkd 
egÙoiw.kZ vFkZ O;atu gSA ;g ,d mís';iw.kZ 
fpUru izfØ;k gSA blesa vFkZ xzg.k ij vfèkd 
cy fn;k tkrk gSA
dfork dk ,slk xw<+ vFkZ ftlesa ,d ckr ds 
Hkhrj dbZ vFkZ lekfgr gks] O;atuk 'kCn 'kfä 
dgykrk gSA
i<+uk vFkok iBu Hkk"kk ds pkj dkS'kyksa esa ls 
,d gSA ;g ,d lkFkZd] mís';iw.kZ ,oe~ fparu 
çèkku çfØ;k gS ftlesa Hkk"kk dh lajpuk dh 
le> rFkk i<+s tk jgs ikB ds lkFk fo|kFkhZ 
ds HkkoukRed lacaèk }kjk vFkZ xzg.k ij cy 
fn;k tkrk gSA
i<+uk lh[kus ds fy, vko';d gS rkfd y{; 
Hkk"kk dh vFkZiw.kZ vkSj jkspd lkexzh lquus&i<+us 
dks feysA

150.	 fodYi (4) mfpr gSA
O;k[;kµd{kk lkr dh lyek vDlj ̂ idM+* 
dks ^idM* vkSj ^Me:* dks ^M+e:* fy[krh 
gSA ,d Hkk"kk f'k{kd ds :i esa ge dgsaxs 
fd lyek dk ^M*@^M+* èofu ladsr lEcUèk 
detÛksj gSA
	 'kq¼		 v'kq¼
	 idM+		 idM
	 Me:		 M+e:
lyek ^M* vkSj ^M+* dk Kku rks j[krh gS 
ysfdu mldk èofu&ladsr lEcUèk detÛksj gS 
ftlds dkj.k =qfV djrh gSA
lyek vDlj ​ ^idM+* dks ^idM* vkSj 
^Me:* dks ^M+e:* fy[krh gS vFkkZr~ og M 
vkSj M+ dk varj ugh le> ik jgh gS vr% 
og M vkSj M+ esa varj ugha tkurh ;k mldk 
èofu ladsr lEcUí detksj gS ;k f'k{kd mlds 
mPpkj.k esa varj djus esa vleFkZ gSA lyek 
dks fyfi ds Kku dk vHkko gS A


